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 1. The Question Paper will be given in the form of a Question Booklet. There will be four 
versions of Question Booklets with Question Booklet Alpha Code viz. a, B, c & d.

 2. The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet 
of the Question Booklet. 
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 4. If you get a Question Booklet where the alpha code does not match to the allotted Alpha 
Code in the seating position, please draw the attention of the Invigilator ImmEdIATEly.

 5. The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your 
Question Booklet is un-numbered, please get it replaced by new Question Booklet with same 
Alpha Code.

 6. The Question Booklet will be sealed at the middle of the right margin. Candidate should 
not open the Question Booklet, until the indication is given to start answering. 

 7. Immediately after the commencement of the examination, the  candidate should check that 
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The 
Question Booklet does not have unprinted or torn or missing pages and if so he/she should 
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha 
Code. This is most important.

 8. Question serial no. 1 to 80 are printed both in english and in Kannada. doubts 
regarding the meaning and translation of Question serial no. 1 to 80 will be settled 
based on the Questions in english.

 9. Two blank pages are provided before the last page of this Question Paper for rough 
work.

 10. Please read carefully all the instructions on the reverse of the answer sheet before 
marking your answers.

 11. Each question is provided with four choices (a), (B), (c) and (d) having one correct answer. 
Choose the correct answer and darken the bubble corresponding to the question number 
using Blue or Black Ball Point Pen in the OmR Answer Sheet.

 12. each correct answer carries 1 mark and for each wrong answer 1/3 mark will be 
deducted. no negative mark for unattended questions.

 13. No candidate will be allowed to leave the examination hall till the end of the session and 
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure 
that the Invigilator has verified all the entries in the Register Number Coding Sheet and 
that the Invigilator has affixed his/her signature in the space provided.

 14. Strict compliance of instructions is essential. Any malpractice or attempt to commit any 
kind of malpractice in the Examination will result in the disqualification of the candidate.
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 1. match list – I with list – II and select the correct answer with the help of the code 
given below :

  List – I (author)  List – II (Work)
 a. Herman Gundert   i. Ribla
 b. Zainuddin makhdoom  ii. Itinerario
 c. ludovico di Varthema  iii. Kerala Pazhama
 d. Ibn Battuta   iv. Tuhfat ul-mujahideen
  code :
  a b c d
 A) ii iii i iv
 B) iv iii ii i
 C) iii iv ii i
 d) i iii iv ii

 2. Consider the following Social Reformers :
 i. Sree Narayana Guru
 ii. dr. Palpu
 iii. Kumaran Asan
 iv. T. K. madhavan

  Who of the above was/were actively associated with SNdP yogam ?
 A) Only i and ii   B) Only i
 C) Only i and iii   d) All of the above (i, ii, iii and iv)

 3. Usha mehta was related to
 A) Operated Secret Radio during Quit India movement
 B) A leader of Underground movement
 C) Joined Azad Hind Fauj
 d) led Salt Satyagraha at dharsana

 4. match list – I with list – II and select the correct answer with the help of the code 
given below :

  List – I (social reformers)  List – II (their association)
 a. Jyothi Rao Phule   i. Veera Saiva movement
 b. Viresalingam Pantalu   ii. Satya Shodhak Samaj
 c. Basava   iii. Seva Sadan
 d. G.K. devdhar and    iv. Raj mahendri Social
  mrs. Ramabai Ranade   Reform Association
  code :
  a b c d
 A) ii iv iii i
 B) i iv ii iii
 C) iv ii i iii
 d) ii iv i iii 
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1. ±Üqr – I®Üá° ±Üqr – IIÃæãí©Wæ Öæãí©Ô ÊÜáñÜá¤ PæÙÜWæ ¯àvÜÇÝXÃÜáÊÜ ÓÜíPæàñÜWÜÚí¨Ü ÓÜÄ¿Þ¨Ü EñÜ¤ÃÜÊÜ®Üá° 
BÁáR ÊÜÞw.

  ±Üqr – I (ÇæàSPÜÃÜá)  ±Üqr – II (PÜê£)

a. ÖÜÊÜáì®… WÜáívÜp…ì  i. Ä¸ÝÉ
b. Ãækáç®Üá©ªà®… ÊÜáSãªÊÜå…  ii. Cq®æÃæàÄÁã
c. ÆávæãàËPæã w ÊÜ¥æìÊÜÞ  iii. PæàÃÜÙÜ ±ÜÙÜØÊÜÞ
d. C¸…° ŸoãpÝ   iv. ñÜá´Ýñ… EÇ…&ÊÜááhÝ×©à®…

  ÓÜíPæàñÜWÜÙÜá :
a b c d

A) ii iii i iv
B) iv iii ii i
C) iii iv ii i
d) i iii iv ii

2. PæÙÜX®Ü ÓÜÊÜÞg ÓÜá«ÝÃÜPÜÃÜ®Üá° WÜÊÜá¯Ô :
i. ÎÅà ®ÝÃÝ¿á| WÜáÃÜá
ii. vÝ. ±ÜÆá³
iii. PÜáÊÜÞÃÜ®… BÓÜ®…
iv. q. Pæ. ÊÜÞ«ÜÊÜ®…

  ÊæáàÈ®ÜÊÜÃÜÈÉ ¿ÞÃÜá GÓ…G®…w² ÁãàWÜí®æãí©Wæ ÓÜQÅ¿áÊÝX ÓÜíŸí«ÜÊÜ®Üá° Öæãí©¨ÜªÃÜá ?
A) i ÊÜáñÜá¤ ii ÊÜÞñÜÅ   B) i ÊÜÞñÜÅ
C) i ÊÜáñÜá¤ iii ÊÜÞñÜÅ  d) ÊæáàÈ®Ü GÆÉÃÜã (i, ii, iii ÊÜáñÜá¤ iv)

3. EÐÝ ÊæáÖÝ¤ C¨ÜPæR ÓÜíŸí—Ô¨ÝªÃæ
A) QÌp… Cíw¿Þ aÜÙÜÊÜÚ¿á ÓÜí¨Ü»Üì¨ÜÈÉ ÃÜÖÜÓÜÂ ÃæàwÁãàÊÜ®Üá° ¯ÊÜì×Ô¨ÜÃÜá
B) »ÜãWÜñÜ aÜÙÜáÊÜÚ¿á ®Ý¿áPÜ
C) AhÝ¨… ×í¨… ±èh…Wæ ÓæàÄ¨ÜÃÜá
d) ¨ÜÓÜì®Ü¨ÜÈÉ E²³®Ü ÓÜñÝÂWÜÅÖÜ¨Ü ®æàñÜêñÜÌ ÊÜ×Ô¨ÜÃÜá

4. ±Üqr – I®Üá° ±Üqr – IIÃæãí©Wæ Öæãí©Ô ÊÜáñÜá¤ PæÙÜWæ ̄ àvÜÇÝXÃÜáÊÜ ÓÜíPæàñÜWÜÙÜ®Üá° ŸÙÜÔ ÓÜÄ¿Þ Ü̈ EñÜ¤ÃÜÊÜ®Üá° 
BÁáR ÊÜÞw :

  ±Üqr – I (ÓÜÊÜÞg ÓÜá«ÝÃÜPÜÃÜá) ±Üqr – II (AÊÜÃÜ ÓÜíZWÜÙÜá)
a. hæãÂà£ ÃÝÊ… ´ÜâÇæ  i. ËàÃÜÍæçÊÜ aÜÙÜÊÜÚ
b. ËàÃæàÍÜÈíWÜí ±ÜíñÜÆá  ii. ÓÜñÜÂÍæãà«ÜPÜ ÓÜÊÜÞg
c. ŸÓÜÊÜ   iii. ÓæàÊÝ ÓÜ¨Ü®Ü
d. i.Pæ. ¨æàÊ…«ÜÃ… ÊÜáñÜá¤   iv. ÃÝg ÊÜáÖæí©Å ÓÜÊÜÞg

  ÎÅàÊÜá£ ÃÜÊÜÞ¸ÝÀá ÃÝ®Üvæ  ÓÜá«ÝÃÜOÝ ÓÜíZ
  ÓÜíPæàñÜWÜÙÜá :

a b c d
A) ii iv iii i
B) i iv ii iii
C) iv ii i iii
d) ii iv i iii
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5. Which of the following is/are related to American War of Independence ?

i. divine Right Theory of Kingship

ii. Boston Protests

iii. Intolerable Acts

Select the correct answer using the code given below.

A) i and ii only B) iii only C) ii and iii only d) i, ii and iii

6. The present managing director of International monetary Fund (ImF)

A) Kristalina Georgieva   B) Camille Gutt

C) Antonio Guterres   d) dr. Tedros Adhanom Ghebreyesus

7. The volcanic pipe filled with breccia is exposed after prolonged erosion above the 
ground surface is called

A) Barrancas   B) Volcanic Butte 

C) diatreme   d) Tors

8. Consider the following statements regarding igneous rocks :
i. The rocks in terms of chemical and mineralogical characteristics texture of grains, 

forms and size of grains.
ii. The sediments and debris derived through the disintegration and decomposition of 

rocks.
iii. Rocks are include andesite, basalt, obsidian, pumice, rhyolite, scoria and tuff.
iv. They also possess mud-cracks and marks of ripples or waves.

A) i only B) i, ii only C) ii, iii only d) i, ii, iii only

9. match the following list – I and list – II :
List – I  List – II

1. Pedi Plain i. lawson
2. Pene Plain ii. Crickmay
3. Pan Plain iii. l. C. King
4. Pan Fan iv. W. m. davis

  code :
1 2 3 4

A) ii iv i iii
B) iii iv ii i
C) iv iii ii i
d) ii i iv iii

10. Allahabad-Haldia stretch of the Ganga-Bhagirathi-Hoogly is
A) National Waterway 3   B) National Waterway 2 
C) National Waterway 4   d) National Waterway 1
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5. D PæÙÜX®ÜÊÜâWÜÙÜÈÉ ¿ÞÊÜâÊÜâ/¿ÞÊÜâ¨Üá AÊæáàÄPÝ¨Ü ÓÝÌñÜíñÜÅÂ¨Ü ¿áá¨ÜœPæR ÓÜíŸí—Ô¨æ ?
i. wÊæç®… Ãæçp… ¦¿áÄ B´… QíW…Î±…
ii. ¸æãàÓÜr®… ±æäÅpæÓ…r
iii. C®…pÝÆÃæàŸÇ… BÂP…r$Õ

  PæÙÜWæ ¯àvÜÇÝXÃÜáÊÜ ÓÜíPæàñÜWÜÙÜ®Üá° ŸÙÜÔ ÓÜÄ¿Þ¨Ü EñÜ¤ÃÜÊÜ®Üá° BÁáR ÊÜÞw.
A) i ÊÜáñÜá¤ ii ÊÜÞñÜÅ B) iii ÊÜÞñÜÅ C) ii ÊÜáñÜá¤ iii ÊÜÞñÜÅ d) i, ii ÊÜáñÜá¤ iii

6. AíñÝÃÝÑóà¿á ÖÜ|PÝÓÜá ¯— (ImF)¿á ±ÜÅÓÜPÜ¤ ÊÜÂÊÜÓÝ§±ÜPÜ ¯¨æàìÍÜPÜ
A) QÅÓÜrÈ®Ý hÝiàìÊÝ   B) PÝÂËáÇæÉ WÜp…
C) BÂípæãà¯Áãà WÜápæÃÜÓ…   d) vÝ. pævæãÅàÓ… A«Ý®ÝÊÜå… [æ¹ÅÁáàÓÜÓ…

7. ¸æÅÔ¿Þ©í¨Ü ñÜáí¹ÃÜáÊÜ ÊæäàÇÝR$Â¯P… PæãÙÜÊæ¿áá ®æÆ¨Ü ÊæáàÇæ¾$ç ÊæáàÇæ ©àZìPÝÆ¨Ü ÓÜÊæñÜ¨Ü A®ÜíñÜÃÜ 
ñæÃæ¨ÜáPæãÙÜáÛÊÜâ¨Ü®Üá° ×àWæí¨Üá PÜÃæ¿áÇÝWÜáñÜ¤¨æ 
A) ŸÃæíPÝÓ…   B) ÊæäàÇÝR Â¯P… ŸãÂp… 
C) vÜ¿ÞqÅàÊÜå…   d) pÝÓ…ì

8. AX°ÎÇæWÜÙÜ ŸWæX®Ü D PæÙÜX®Ü ÖæàÚPæWÜÙÜ®Üá° ±ÜÄWÜ~Ô :
i. PÜ|WÜÙÜ ÃÜaÜ®æ, ÃÜã±ÜWÜÙÜá ÊÜáñÜá¤ PÜ|WÜÙÜ WÝñÜÅ¨Ü ÃÝÓÝ¿á¯PÜ ÊÜáñÜá¤ S¯gÍÝÔ÷à¿á WÜá|ÆPÜÒ|WÜÙÜ 

±ÜÅPÝÃÜ ŸívæWÜÙÜá.
ii. ŸívæWÜÙÜ ËZo®æ ÊÜáñÜá¤ Ë»Üg®æWÜÙÜ ÊÜáãÆPÜ ±Üvæ¨Ü PæÓÜÃÜá ÊÜáñÜá¤ AÊÜÍæàÐÜWÜÙÜá.
iii. ŸívæWÜÙÜá BÂíwÓæçp…, ŸÓÝÇ…r™, A¹Õw¿á®…, ±ÜäÂËáÓ…, ÃÜÁãàÇæçp…, ÓæãRàÄ¿Þ ÊÜáñÜá¤ o´… A®Üá° 

JÙÜWæãÙÜáÛñÜ¤¨æ.
iv. AÊÜâWÜÙÜá ÊÜá~¡®Ü ¹ÃÜáPÜáWÜÙÜá ÊÜáñÜá¤ ñÜÃÜíWÜWÜÙÜá A¥ÜÊÝ AÇæWÜÙÜ WÜáÃÜáñÜáWÜÙÜ®Üá° ÓÜÖÜ Öæãí©¨æ.
A) i ÊÜÞñÜÅ B) i, ii ÊÜÞñÜÅ C) ii, iii ÊÜÞñÜÅ d) i, ii, iii ÊÜÞñÜÅ

9. PæÙÜX®Ü ±Üqr – I ÊÜáñÜá¤ ±Üqr – II®Üá° Öæãí©Ô.
  ±Üqr – I  ±Üqr – II

1. ±æw ±æÉà®… i. ÇÝÓÜ®…
2. ±æ®æ ±æÉà®… ii. QÅPæ¾à
3. ±Ý®… ±æÉà®… iii. GÇ…. Ô. QíW…
4. ±Ý®… ´ÝÂ®… iv. vÜŸãÉ$Â. Gí. væàËÓ…

  ÓÜíPæàñÜWÜÙÜá :
1 2 3 4

A) ii iv i iii
B) iii iv ii i
C) iv iii ii i
d) ii i iv iii

10. WÜíWÝ&»ÝXàÃÜ¦&ÖÜãXÉ¿á AÆÖÝ¸Ý¨…&ÖÝÈx¿á ËÓÜ¤ÃÜOæ¿áá C¨ÝX¨æ
A) ÃÝÑóà¿á gÆÊÜÞWÜì 3  B) ÃÝÑóà¿á gÆÊÜÞWÜì 2
C) ÃÝÑóà¿á gÆÊÜÞWÜì 4  d) ÃÝÑóà¿á gÆÊÜÞWÜì 1
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11. Pineapple Research Center is located at
A) Chengannur B) Aanakkayam C) Chalakkudy d) Vellanikkara

12. Which is the most polluted city in South India as per the Green Peace India’s Study 
Report ?
A) Puducherry B) Vijayawada C) Visakhapatnam d) Hyderabad

13. Which one of the following is an exempted income as per the Income Tax ?
A) Income from House property
B) Income earned through agricultural means
C) Interest from fixed deposit
d) Income earned through winning from lotteries

14. match the following Schemes and the Purpose :
  scheme Purpose

I. Project Insight A. To reduce physical interaction between  
tax payers and the department

II. Vivad Se Vishwas Scheme B. dedicated e-mail Id for tax payers to 
register their grievances

III. Samadhan C. To settle outstanding disputes
IV. Faceless Assessment Scheme d. An integrated platform created to leverage 

data received from various agencies
A) I – A, II – d, III – B, IV – C B) I – d, II – C, III – B, IV – A
C) I – A, II – C, III – d, IV – B d) I – d, II – C, III – A, IV – B

15. One of the following programmes/initiatives was not introduced during the sixth five-year 
plan. Which one is that ?

A) National Bank for Agriculture and Rural development

B) minimum Needs Programme

C) National Rural Employment Programme

d) Integrated Rural development Programme

16. The following are some of the statements related to the New Economic Reforms of 
India :

I. larger role for the private sector including foreign investment.

II. Shift to a more open economy with greater reliance upon market forces. 

III. Enhancing competition based upon more market orientation.

Which of the statement/s is/are correct ?

A) Only I is correct   B) Only II is correct

C) I and II are correct   d) I, II and III are correct
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11. A®Ý®ÝÓ… ÓÜíÍæãà«Ü®Ü Pæàí¨ÜÅÊÜâ __________ ®ÜÈÉ¨æ.
A) aæíWÜ®Üã°Ã… B) B®ÜPÜR¿áÊÜå… C) aÝÆPÜáRw d) ÊæÇÝÉ¯PÜRÃÜ

12. XÅà®… ²àÓ… Cíw¿Þ Ü̈ A«ÜÂ¿á®Ü ÊÜÃÜ©¿á ±ÜÅPÝÃÜ Ü̈QÒ| »ÝÃÜñÜ̈ ÜÈÉ AñÜÂíñÜ PÜÆáÑñÜ ®ÜWÜÃÜ ¿ÞÊÜâ Ü̈á ?
A) ±Üâ¨ÜáaæàÄ B) Ëg¿áÊÝvÜ C) ËÍÝS±Üor|í d) Öæç¨ÜÃÝ¸Ý¨…

13. B¨Ý¿á ñæÄWæ¿á ±ÜÅPÝÃÜ D PæÙÜX®ÜÊÜâWÜÙÜÈÉ ¿ÞÊÜâ¨Üá Ë®ÝÀá£ ±Üvæ¨Ü B¨Ý¿áÊÝX¨æ ?
A) ÊÜá®æ BÔ¤Àáí¨Ü Ÿí¨Ü B¨Ý¿á  
B) PÜêÑ ÊÜáãÆ©í¨Ü WÜÚÔ¨Ü B¨Ý¿á
C) Ô§ÃÜ sæàÊÜ~Àáí¨Ü Ÿí¨Ü Ÿwx  
d) ÇÝoÄ WæÆáÉÊÜ ÊÜáãÆPÜ WÜÚÔ¨Ü B¨Ý¿á

14. PæÙÜX®Ü Áãàg®æWÜÙÜá ÊÜáñÜá¤ E¨æªàÍÜÊÜ®Üá° Öæãí©Ô.
Áãàg®æ     E¨æªàÍÜ

I. ±æäÅhæP…r  C®…Óæçp…   A. ñæÄWæ ±ÝÊÜ£¨ÝÃÜÃÜá ÊÜáñÜá¤ CÇÝTæ¿á ®ÜvÜáË®Ü 
»è£PÜ ±ÝÃÜÓÜ³ÄPÜ QÅÁá¿á®Üá° PÜwÊæá ÊÜÞvÜÆá

II. ËÊÝ¨… Óæ ËÍÝÌÓ… Áãàg®æ B. ñæÄWæ ±ÝÊÜ£¨ÝÃÜÄWæ ñÜÊÜá¾ PÜáí¨ÜáPæãÃÜñæWÜÙÜ®Üá° 
®æãàí¨ÝÀáÓÜÆá ÓÜÊÜá²ìÓÜÇÝ Ü̈ C&ÊæáàÇ… Iw

III. ÓÜÊÜÞ«Ý®…   C. ¸ÝQ CÃÜáÊÜ ËÊÝ¨ÜWÜÙÜ®Üá° CñÜÂ¥Üì±ÜwÓÜÆá
IV. ÊÜááSÃÜ×ñÜ ÊÜåèÆÂÊÜÞ±Ü®Ü Áãàg®æ d. ËË«Ü Hhæ¯ÕWÜÚí¨Ü ±Üvæ¨Ü ¨ÜñÝ¤íÍÜ¨Ü E±Ü¿ááPÜ¤ 

ŸÙÜPæWæ ÃÜbÓÜÇÝ¨Ü ÓÜíÁãàiñÜ Êæà©Pæ
A) I – A, II – d, III – B, IV – C B) I – d, II – C, III – B, IV – A

C) I – A, II – C, III – d, IV – B d) I – d, II – C, III – A, IV – B

15. BÃÜ®æà ±ÜíaÜÊÝÑìPÜ Áãàg®æ¿áÈÉ D PæÙÜX®Ü PÝ¿áìPÜÅÊÜáWÜÙÜá/E±ÜPÜÅÊÜáWÜÙÜÈÉ  Jí Ü̈®Üá° ±ÜÄaÜÀáÓÜÇÝXÆÉ™. 
A¨Üá ¿ÞÊÜâ¨Üá ?
A) PÜêÑ ÊÜáñÜá¤ WÝÅËáàOÝ¼ÊÜê©œWÝX ÃÝÑóà¿á ¸ÝÂíP…
B) PÜ¯ÐÜu AWÜñÜÂñæWÜÙÜ PÝ¿áìPÜÅÊÜá
C) ÃÝÑóà¿á WÝÅËáà| E¨æãÂàWÜ PÝ¿áìPÜÅÊÜá
d) ÓÜíÁãàiñÜ WÝÅËáàOÝ¼ÊÜê©œ PÝ¿áìPÜÅÊÜá

16. »ÝÃÜñÜ¨Ü ÖæãÓÜ B¦ìPÜ ÓÜá«ÝÃÜOæWÜÚWæ ÓÜíŸí—Ô¨Ü PæÆÊÜâ ÖæàÚPæWÜÙÜá D PæÙÜX®Üí£Êæ :
I. Ë¨æàÎ ÖÜãwPæ ÓæàÄ¨Üíñæ TÝÓÜX ÊÜÆ¿á¨Ü ¨æãvÜx ±ÝñÜÅ™.

II. ÊÜÞÃÜáPÜpær  ÍÜQ¤WÜÙÜ ÊæáàÇæ Öæbc®Ü AÊÜÆíŸ®æÁãí©Wæ ÖæaÜác  ÊÜááPÜ¤ B¦ìPÜñæWæ Ÿ¨ÜÇÝÊÜOæ.
III. Öæbc®Ü ÊÜÞÃÜáPÜpær  ¨ÜêÑrPæãà®ÜÊÜ®Üá° B«ÜÄÔ ±æç±æäàq ÖæbcÓÜáÊÜâ¨Üá.

ÊæáàÈ®Ü ¿ÞÊÜ ÖæàÚPæ/ÖæàÚPæWÜÙÜá ÓÜÄ¿ÞX¨æ/Êæ ?
A) I ÊÜÞñÜÅ ÓÜÄ¿ÞX¨æ   B) II ÊÜÞñÜÅ ÓÜÄ¿ÞX¨æ 
C) I ÊÜáñÜá¤ II ÓÜÄ¿ÞXÊæ   d) I, II ÊÜáñÜá¤ III ÓÜÄ¿ÞXÊæ
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17. As per the Statistics of 2021, the highest production of the crops and the respective 
States are given below :

I. Sugarcane – Uttar Pradesh
II. Cotton – maharashtra

III. Rice – Punjab
IV. Wheat – Uttar Pradesh

Which one of the pairs is wrongly matched ?

A) I only B) II only C) III only d) IV only

18. As per the Statistics of the GST Council, the following States rank 1, 2, 3, 4 and 5 
in terms of GST Revenue Collection for November 2022.

A) maharashtra, Gujarat, Karnataka, Uttar Pradesh, Tamil Nadu

B) maharashtra, Tamil Nadu, Karnataka, Gujarat, Uttar Pradesh

C) maharashtra, Gujarat, Karnataka, Tamil Nadu, Uttar Pradesh

d) maharashtra, Karnataka, Gujarat, Tamil Nadu, Uttar Pradesh

19. Consider the following statements :
The montague Chelmsford Act of 1919

1. Provided for “dyarchy” in the provinces.

2. Introduced bicameralism at the National level.

3. Established Provincial Public Service Commission.
Which of the above statement/s is/are correct ?

A) 1 only B) 1 and 2 only C) 1 and 3 only d) 2 and 3 only

20. The phrase “Union of States” in Article 1 of the Indian Constitution indicates :

1. The Indian federation is not the result of an agreement by the units.

2. In India, the States can secede from the Union.
Which of the above is/are correct ?

A) 1 only B) 2 only C) 1 and 2 d) Neither 1 nor 2

21. With reference to the Citizenship Act, 1955, consider the following :
The modes of acquiring the citizenship of India are :
1. Birth
2. descent
3. Registration
4. Naturalisation

Which of the above is/are correct ?

A) 1 and 2 only  B) 1 and 4 only C) 1, 3 and 4 only d) 1, 2, 3 and 4
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17. 2021ÃÜ  AíQ AíÍÜWÜÙÜ ±ÜÅPÝÃÜ, ¸æÙæWÜÙÜ WÜÄÐÜu EñÝ³¨Ü®æ ÊÜáñÜá¤ B¿Þ ÃÝgÂÊÜ®Üá° PæÙÜWæ ¯àvÜÇÝX¨æ :
I. PÜŸáº & EñÜ¤ÃÜ±ÜÅ¨æàÍÜ

II. ÖÜ£¤ & ÊÜáÖÝÃÝÐÜó
III. AQR & ±ÜíhÝ¸…
IV. Wæãà— & EñÜ¤ÃÜ±ÜÅ¨æàÍÜ

D hæãàwWÜÙÜÈÉ  ¿ÞÊÜâ¨Üá ñÜ±Ý³X Öæãí©Pæ¿ÞX¨æ ?
A) I ÊÜÞñÜÅ B) II ÊÜÞñÜÅ C) III ÊÜÞñÜÅ d) IV ÊÜÞñÜÅ

18. iGÓ…q Pè¯ÕÇ…®Ü AíQAíÍÜWÜÙÜ ±ÜÅPÝÃÜ, ®ÜÊæíŸÃ… 2022PæR iGÓ…q B¨Ý¿á ÓÜíWÜÅÖÜOæ¿á 
ËÐÜ¿á¨ÜÈÉ  D PæÙÜX®Ü ÃÝgÂWÜÙÜá 1, 2, 3, 4 ÊÜáñÜá¤ 5ÃÜ ÍæÅà~¿á®Üá° Öæãí©¨æ
A) ÊÜáÖÝÃÝÐÜó™, WÜágÃÝñ…, PÜ®ÝìoPÜ, EñÜ¤ÃÜ±ÜÅ¨æàÍÜ, ñÜËáÙÜá®ÝvÜá
B) ÊÜáÖÝÃÝÐÜó™, ñÜËáÙÜá®ÝvÜá, PÜ®ÝìoPÜ, WÜágÃÝñ…, EñÜ¤ÃÜ±ÜÅ¨æàÍÜ
C) ÊÜáÖÝÃÝÐÜó™, WÜágÃÝñ…, PÜ®ÝìoPÜ, ñÜËáÙÜá®ÝvÜá, EñÜ¤ÃÜ±ÜÅ¨æàÍÜ
d) ÊÜáÖÝÃÝÐÜó™, PÜ®ÝìoPÜ, WÜágÃÝñ…, ñÜËáÙÜá®ÝvÜá, EñÜ¤ÃÜ±ÜÅ¨æàÍÜ

19. PæÙÜX®Ü ÖæàÚPæWÜÙÜ®Üá° ±ÜÄWÜ~Ô.
1919ÃÜ ÊæãípæWÜãÂ aæÇ…¾$Õ ´æäàv…ì PÝÀá¨æ
1. ±ÝÅíñÜÂWÜÙÜÈÉ  "©Ì±ÜÅ»ÜáñÜÌ'PÝRX J¨ÜXÓÜÇÝX¨æ.
2. ÃÝÐÜóÊÜáor¨ÜÈÉ  E»Ü¿áÓÜ¨Ü®ÜñÜÌÊÜ®Üá° ±ÜÄaÜÀáÓÜÇÝÀáñÜá.
3. ±ÝÅí£à¿á ÇæãàPÜÓæàÊÝ BÁãàWÜÊÜ®Üá° ÓÝ§²ÓÜÇÝX¨æ.

  ÊæáàÈ®Ü ¿ÞÊÜ ÖæàÚPæ/WÜÙÜá ÓÜÄ¿ÞX¨æ/Êæ ?
A) 1 ÊÜÞñÜÅ B) 1 ÊÜáñÜá¤  2 ÊÜÞñÜÅ C) 1 ÊÜáñÜá¤ 3 ÊÜÞñÜÅ d) 2 ÊÜáñÜá¤ 3 ÊÜÞñÜÅ

20. »ÝÃÜ£à¿á ÓÜíË«Ý®Ü¨Ü ±ÜÄaæfà¨Ü 1ÃÜÈÉ  ""ÃÝgÂWÜÙÜ JPÜãRo'' GíŸ ÊÜÞñÜá C¨Ü®Üá° ÓÜãbÓÜáñÜ¤¨æ.
1. »ÝÃÜ£à¿á JPÜãRoÊÜâ ZoPÜWÜÙÜ J±Ü³í¨Ü¨Ü ´ÜÈñÝíÍÜÊÜÆÉ™.
2. »ÝÃÜñÜ¨ÜÈÉ ÃÝgÂÊÜâ JPÜãRo©í¨Ü ±ÜÅñæÂàPÜWæãÙÜÛŸÖÜá¨Üá.

  ÊæáàÈ®ÜÊÜâWÜÙÜÈÉ  ¿ÞÊÜâ¨Üá/¿ÞÊÜâÊÜâ ÓÜÄ¿ÞX¨æ/Êæ ?
A) 1 ÊÜÞñÜÅ B) 2 ÊÜÞñÜÅ C) 1 ÊÜáñÜá¤ 2 d) 1 AÆÉ  2 AÆÉ

21. 1955ÃÜ ±èÃÜñÜÌ  PÝÀá¨æ¿á EÇæÉàS¨æãí©Wæ D PæÙÜX®ÜÊÜâWÜÙÜ®Üá° ±ÜÄWÜ~Ô.
  »ÝÃÜñÜ¨Ü ±èÃÜñÜÌÊÜ®Üá° ±Üvæ¿ááÊÜ Ë«Ý®Ü

1. g®Ü®Ü
2. ÓÜíñÜ£
3. ®æãàí¨Ü~
4. ¨æàÎàPÜÃÜ|

  ÊæáàÈ®ÜÊÜâWÜÙÜÈÉ ¿ÞÊÜâ¨Üá/¿ÞÊÜâÊÜâ ÓÜÄ¿ÞX¨æ/Êæ ?
A) 1 ÊÜáñÜá¤ 2 ÊÜÞñÜÅ  B) 1 ÊÜáñÜá¤ 4 ÊÜÞñÜÅ C) 1, 3 ÊÜáñÜá¤ 4 ÊÜÞñÜÅ d) 1, 2, 3 ÊÜáñÜá¤ 4
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22. Consider the statements regarding Amendment procedure of the Indian Constitution :
1. The State legislatures can initiate a proposal for Amendment of the Constitution.
2. An Amendment which affects the federal structure must be ratified by half of the 

State legislatures by special majority.
Which of the above is/are correct ?
A) 1 only B) 2 only C) 1 and 2 d) Neither 1 nor 2

23. Consider the following provisions under Fundamental Rights as enshrined in the 
Indian Constitution :
1. Equality of opportunity in public employment.
2. Right to freedom of speech and expression.
3. Equality before the law.

Which of the above Fundamental Rights is/are available only to Indian citizens ?
A) 1 only B) 2 only C) 1 and 2 only d) 1, 2 and 3

24. The recent Amendment of life Insurance Corporation (lIC) Act of 1956 in the 
Parliament was done by way of 
A) Appropriation Bill   B) Finance Bill 
C) money Bill   d) None of the above

25. Which among the following statements are not true with regard to the Kerala model 
of development ?
1. The Kerala model of development was initiated by the first Ministry of United 

Kerala.
2. The wealth and resource redistribution programmes have largely brought about the 

high material quality-of-life indicators.
3. High level of political participation and activism is a key element of Kerala model.
4. Quality of life indicators in Kerala are at par with developed nations. 
A) 1 and 2 B) 1, 2 and 4 C) 4 only d) 1 only

26. Given below are two statements marked (1) and (2). Find out which among the 
options are true with regard to the statements. 
1. In Kerala, there has been a large-scale withdrawal of workers from agriculture over the 

years, with the share of the workforce in agriculture and allied activities declining.
2. The contribution by construction and the services sectors to the economy are higher 

in Kerala.
A) Statement 1 and 2 are true and 2 is the correct reason for 1
B) Statement 1 and 2 are true but 2 is not the correct reason for 1
C) Only statement 1 is true
d) Both statements are false
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22. »ÝÃÜ£à¿á ÓÜíË«Ý®Ü¨Ü £¨Üáª±Üw PÝ¿áìË«Ý®Ü¨Ü ŸWæX®Ü ÖæàÚPæWÜÙÜ®Üá° ±ÜÄWÜ~Ô :
1. ÃÝgÂ ÍÝÓÜPÝíWÜWÜÙÜá ÓÜíË«Ý®Ü¨Ü £¨Üáª±Üw¿á ±ÜÅÓÝ¤±ÜÊÜ®Üá° ±ÝÅÃÜí¼ÓÜ¸æàPÜá.
2. ´ævÜÃÜÇ… ÃÜaÜ®æ¿á ÊæáàÇæ ±ÜÄOÝÊÜá ¹àÃÜáÊÜ £¨Üáª±Üw¿áá ÃÝgÂ ÍÝÓÜPÝíWÜWÜÚí¨Ü A«Üì¨ÜÐÜár  

ÓÜíTæÂ¿á ËÍæàÐÜ ŸÖÜáÊÜáñÜ©í¨Ü Ô§ÄàPÜÄÓÜÆ³vÜ¸æàPÜá.
  ÊæáàÈ®Ü ÖæàÚPæWÜÙÜÈÉ  ¿ÞÊÜâ¨Üá/¿ÞÊÜâÊÜâ ÓÜÄ¿ÞX¨æ/Êæ ?

A) 1 ÊÜÞñÜÅ B) 2 ÊÜÞñÜÅ C) 1 ÊÜáñÜá¤ 2 d) 1 AÆÉ 2 AÆÉ 

23. »ÝÃÜ£à¿á ÓÜíË«Ý®Ü¨ÜÈÉ  ±ÜÅ£±Ý©ÓÜÇÝXÃÜáÊÜ ÊÜáãÆ»ÜãñÜ ÖÜPÜáRWÜÙÜ Aw¿áÈÉ  D PæÙÜX®Ü 
¯Ÿí«Ü®æWÜÙÜ®Üá° WÜÊÜá¯Ô :
1. ÓÝÊÜìg¯PÜ E¨æãÂàWÜ¨ÜÈÉ  ÓÜÊÜÞ®Üñæ¿á AÊÜPÝÍÜ.
2. ÊÝP… ÊÜáñÜá¤ A¼ÊÜÂQ¤  ÓÝÌñÜíñÜÅ$Â¨Ü ÖÜPÜáR.
3. PÝ®Üã¯®Ü ÊÜááí¨æ ÓÜÊÜÞ®Üñæ.

  ÊæáàÈ®Ü ¿ÞÊÜ ÊÜáãÆ»ÜãñÜ ÖÜPÜáRWÜÙÜá »ÝÃÜ£à¿á ®ÝWÜÄPÜÄWæ ÊÜÞñÜÅ Æ»ÜÂË¨æ ?
A) 1 ÊÜÞñÜÅ B) 2 ÊÜÞñÜÅ C) 1 ÊÜáñÜá¤ 2 ÊÜÞñÜÅ d) 1, 2 ÊÜáñÜá¤ 3

24. ÓÜíÓÜ£¤®ÜÈÉ  1956ÃÜ iàÊÜËÊÜÞ ¯WÜÊÜá (lIC) PÝÀá¨æ¿á C£¤àb®Ü £¨Üáª±Üw¿á®Üá° D ÊÜáãÆPÜ 
ÊÜÞvÜÇÝX¨æ
A) Ë¯ÁãàWÜ ÊÜáÓÜã¨æ  B) ÖÜ|PÝÓÜá ÊÜáÓÜã¨æ
C) ÖÜ|¨Ü ÊÜáÓÜã¨æ   d) ÊæáàÈ®Ü ¿ÞÊÜâ¨Üã AÆÉ

25. PæàÃÜÙÜ¨Ü A¼ÊÜê©œ¿á ÊÜÞ¨ÜÄWæ ÓÜíŸí—Ô¨Üíñæ D PæÙÜX®Ü ÖæàÚPæWÜÙÜÈÉ  ¿ÞÊÜâ¨Üá ¯gÊÜÆÉ ?
1. A¼ÊÜê©œ¿á PæàÃÜÙÜ ÊÜÞ¨ÜÄ¿á®Üá° HQàPÜêñÜ PæàÃÜÙÜ¨Ü ±ÜÅ¥ÜÊÜá ÓÜbÊÝÆ¿áÊÜâ ±ÝÅÃÜí¼ÔñÜá.
2. ÓÜí±ÜñÜá¤ ÊÜáñÜá¤ ÓÜí±Ü®Üã¾Æ ±Üâ®ÜËìñÜÃÜOæ PÝ¿áìPÜÅÊÜáWÜÙÜá ÖæaÝcX iàÊÜ®Ü ÓÜãaÜPÜWÜÙÜ E®Ü°ñÜ ÊÜÓÜá¤ 

(material) WÜá|ÊÜáorÊÜ®Üá° ñÜí©¨æ.
3. E®Ü°ñÜ ÊÜáor¨Ü ÃÝgQà¿á »ÝWÜÊÜ×ÓÜáËPæ ÊÜáñÜá¤ QÅ¿ÞÎàÆñæ¿áá PæàÃÜÙÜ ÊÜÞ¨ÜÄ¿á ±ÜÅÊÜááS 

AíÍÜÊÝX¨æ.
4. PæàÃÜÙÜ¨ÜÈÉ®Ü  iàÊÜ®Ü WÜá|ÊÜáor¨Ü ÓÜãaÜPÜWÜÙÜá A¼ÊÜê©œ ÃÝÐÜóWÜÚWæ ÓÜÊÜÞ®ÜÊÝX¨æ.
A) 1 ÊÜáñÜá¤ 2 B) 1, 2 ÊÜáñÜá¤ 4 C) 4 ÊÜÞñÜÅ d) 1 ÊÜÞñÜÅ

26. PæÙÜWæ (1) ÊÜáñÜá¤ (2) Gí¨Üá ÓÜãbÓÜÇÝ¨Ü GÃÜvÜá ÖæàÚPæWÜÙÜ®Üá° ¯àvÜÇÝX¨Üáª, AÊÜâWÜÚWæ ÓÜíŸí—Ô¨Üíñæ 
¿ÞÊÜ BÁáRWÜÙÜá ÓÜÄ¿ÞXÊæ GíŸá¨Ü®Üá° PÜívÜá×wÀáÄ.
1. PæàÃÜÙÜ¨ÜÈÉ PÜêÑ ÊÜáñÜá¤ ÓÜíŸí—ñÜ aÜoáÊÜqPæWÜÙÜÈÉ  PÝ¿áì±Üvæ¿á ±ÝÆá QÒà~ÓÜáÊÜâ¨ÜÃæãí©Wæ ÖÜÆÊÜâ 

ÊÜÐÜìWÜÚí¨Ü PÝËáìPÜÃÜ®Üá° PÜêÑÀáí¨Ü ¨æãvÜx ±ÜÅÊÜÞ|¨ÜÈÉ ×íñæWæ¨ÜáPæãÙÜÛÇÝX¨æ.
2. PæàÃÜÙÜ¨ÜÈÉ  B¦ìPÜñæWæ ¯ÊÜÞì| ÊÜáñÜá¤ ÓæàÊÝÊÜÆ¿á¨Ü PæãvÜáWæ ÖæaÝcX¨æ.
A) ÖæàÚPæ 1 ÊÜáñÜá¤ 2 ÓÜÄ¿ÞXÊæ, ÊÜáñÜá¤ 2 GíŸá¨Üá 1ÃÜ ÓÜÄ¿Þ¨Ü PÝÃÜ|ÊÝX¨æ
B) ÖæàÚPæ 1 ÊÜáñÜá¤ 2 ÓÜÄ¿ÞXÊæ, B¨ÜÃæ 2 GíŸá¨Üá 1ÃÜ ÓÜÄ¿Þ¨Ü PÝÃÜ|ÊÜÆÉ
C) ÖæàÚPæ 1 ÊÜÞñÜÅ ÓÜÄ¿ÞX¨æ
d) GÃÜvÜã ÖæàÚPæWÜÙÜá ÓÜáÙÝÛXÊæ
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27. Which among the following e-governance initiatives in the State of Kerala is related 
to local Self Government department ?

1. E-Rekha

2. Sakarma

3. Akshaya

4. FRIENdS

A) 1 and 2   B) 2 and 3 

C) 3 and 4   d) All of the above 

28. Which among the following statement is false with regard to the Kerala Bank ?

1. The Kerala Bank has the vision to become a Universal bank.

2. This is the second largest bank in Kerala in terms of business and number of 
branches.

3. The bank aims to become the backbone of the rural financial sector.

4. The bank passes on the refinance assistance to small entrepreneurs.

A) 1 and 2   B) 2 and 3 

C) 3 and 4   d) None of the above

29. Which among the following was not a provision of Kerala Agrarian Relations Act (1960) ?

1. Ceiling on land

2. Fixity of tenure

3. Compensation for acquisition

4. Freedom from eviction

A) 1 only B) 1 and 2 only C) 3 only d) All are true

30. Which among the following department act as Nodal Agency for Pradhan mantri 
Krishi Sinchayee yojana (Watershed Component) ?

A) department of Agriculture B) department of Revenue

C) local Self Government d) department of Finance

31. What is the context of implementation of ‘Subiksha Keralam’ Project ?

A) Floods 2018   B) Covid – 19

C) FAO directives   d) Food Policy of India Government

32. Which among the following is an apt example of administrative adjudication ?

A) Accountant General of Kerala B) Advocate General

C) Kerala Administrative Tribunal d) Kerala Public Service Commission
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27. PæàÃÜÙÜ ÃÝgÂ¨ÜÈÉ  D PæÙÜX®Ü C&BvÜÚñÜ E±ÜPÜÅÊÜáWÜÙÜÈÉ  ¿ÞÊÜâ¨Üá ÓÜ§Úà¿á ÓÜÌ¿áí ÓÜÃÜPÝÃÜ¨Ü 
CÇÝTæWæ ÓÜíŸí—Ô¨æ ?
1. C&ÃæàTÝ
2. ÓÜPÜÊÜáì
3. APÜÒ¿á
4. ´æÅív…Õ
A) 1 ÊÜáñÜá¤ 2   B) 2 ÊÜáñÜá¤ 3 

C) 3 ÊÜáñÜá¤ 4   d) ÊæáàÈ®Ü GÆÉÊÜä

28. PæàÃÜÙÜ ¸ÝÂíP…Wæ ÓÜíŸí—Ô¨Üíñæ D PæÙÜX®Ü ÖæàÚPæWÜÙÜÈÉ  ¿ÞÊÜâ¨Üá ñÜ±Ý³X¨æ ?
1. PæàÃÜÙÜ ¸ÝÂíP… ÓÝÊÜì£ÅPÜ ¸ÝÂíP… BWÜáÊÜ ¨ÜêÑr¿á®Üá° Öæãí©¨æ.
2. ÊÜÂÊÜÖÝÃÜ ÊÜáñÜá¤ ÍÝTæWÜÙÜ ÓÜíTæÂ¿áÈÉ  C¨Üá PæàÃÜÙÜ¨Ü GÃÜvÜ®æà A£ ¨æãvÜx ¸ÝÂíP… BX¨æ.
3. ¸ÝÂíP… WÝÅËáà| ÖÜ|PÝÓÜá PæÒàñÜÅ¨Ü ¸æ®æ°Æá¸ÝWÜáÊÜ WÜáÄ¿á®Üá° Öæãí©¨æ.
4. ¸ÝÂíP… ÓÜ|¡ E¨ÜÂËáWÜÚWæ ÊÜáÃÜáÖÜ|PÝÔ®Ü ÓÜÖÝ¿áÊÜ®Üá° ¯àvÜáñÜ¤¨æ.
A) 1 ÊÜáñÜá¤ 2   B) 2 ÊÜáñÜá¤ 3 

C) 3 ÊÜáñÜá¤ 4   d) ÊæáàÈ®Ü ¿ÞÊÜâ¨Üã AÆÉ

29. D PæÙÜX®ÜÊÜâWÜÙÜÈÉ  PæàÃÜÙÜ PÜêÑ ÓÜíŸí«ÜWÜÙÜ PÝÀá¨æ (1960)¿á ¯Ÿí«Ü®æ¿ÞXÃÜÈÆÉ ?
1. »ÜãËá¿á ÊæáàÈ®Ü WÜÄÐÜu Ëá£
2. A—PÝÃÝÊÜ—¿á Ô§ÃÜñæ
3. ÓÝÌ—à®ÜPÝRX ±ÜÄÖÝÃÜ
4. ÖæãÃÜÖÝPÜáËPæÀáí¨Ü ÓÝÌñÜíñÜÅ$Â
A) 1 ÊÜÞñÜÅ B) 1 ÊÜáñÜá¤  2 ÊÜÞñÜÅ C) 3 ÊÜÞñÜÅ d) GÆÉÊÜä ÓÜÄ

30. D PæÙÜX®Ü CÇÝTæWÜÙÜÈÉ ¿ÞÊÜâ¨Üá ±ÜÅ«Ý®ÜÊÜáí£Å PÜêÑ ÔíaÜÀáà Áãàg®æWæ (ÊÝoÃ…Íæv… ZoPÜ) 
®æãàvÜÇ… Hhæ¯Õ¿ÞX PÝ¿áì¯ÊÜì×ÓÜáñÜ¤¨æ ?
A) PÜêÑ CÇÝTæ  B) PÜí¨Ý¿á CÇÝTæ
C) ÓÜ§Úà¿á ÓÜÌ¿áí ÓÜÃÜPÝÃÜ  d) ÖÜ|PÝÓÜá CÇÝTæ

31. "ÓÜá¼PÝÒ PæàÃÜÙÜí' Áãàg®æ¿á A®ÜáÐÝu®Ü¨Ü ÓÜí¨Ü»Üì ¿ÞÊÜâ¨Üá ?
A) ±ÜÅÊÝÖÜWÜÙÜá 2018   B) PæãàËv… – 19

C) FAO ¯¨æàìÍÜ®ÜWÜÙÜá  d) »ÝÃÜñÜ ÓÜÃÜPÝÃÜ¨Ü BÖÝÃÜ ¯à£

32. D PæÙÜX®ÜÊÜâWÜÙÜÈÉ ¿ÞÊÜâ¨Üá BvÜÚñÝñÜ¾PÜ £à²ì®Ü ÓÜãPÜ¤ E¨ÝÖÜÃÜOæ¿ÞX¨æ ?
A) PæàÃÜÙÜ¨Ü APèípæíp… g®ÜÃÜÇ… B) AvæãÌàPæàp… g®ÜÃÜÇ…
C) PæàÃÜÙÜ BvÜÚñÜ ®ÝÂ¿áÊÜáívÜÚ d) PæàÃÜÙÜ ÇæãàPÜ ÓæàÊÝ BÁãàWÜ
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33. Which among the following is not a project of Kerala Social Security mission ?

1. Snehapoorvam

2. Thalolam

3. Vayomithram

4. Nirbhaya

A) 1 only B) 1 and 2 only C) 3 only d) 4 only

34. Given below are two statements marked (1) and (2). Find out which among the 
options are true with regard to the statements.

1. The participation of women in Panchayathi Raj institutions in Kerala is higher than 
the all India average.

2. The literacy rate of women in Kerala is higher than literacy rate of men in the 
State.

A) Statement 1 and 2 are true and 2 is the correct reason for 1

B) Statement 1 and 2 are true but 2 is not the correct reason for 1

C) Only statement 1 is true

d) Both statements are false

35. In the case of disaster management in Kerala which among the following sequence 
is suggested for action as per statutory requirement ?

A) Preparedness, Response, Recovery, mitigation

B) Preparedness, Response, mitigation, Rehabilitation

C) Prediction, Preparedness, Response, mitigation

d) Prediction, Preparedness, Response, Rehabilitation

36. Which among the following is not a power of Kerala State Information Commission ?

A) Imposing penalties   

B) Awarding compensation

C) Recommending disciplinary action 

d) None of the above

37. diabetes insipidus is due to the lack of hormone

A) Glucagon B) Insulin C) AdH d) Thyroxine

38. Pernicious anemia occurs when the intestine cannot properly absorb

A) Iron B) Vitamin B12 C) Protein d) minerals
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33. D PæÙÜX®ÜÊÜâWÜÙÜÈÉ ¿ÞÊÜâ¨Üá PæàÃÜÙÜ ÓÝÊÜÞiPÜ »Ü¨ÜÅñÝ ËáÐÜ®…®Ü Áãàg®æ¿ÞXÆÉ ?
1. Óæ°àÖÜ±ÜäÊÜìí
2. ¥ÝÇæãàÆí
3. ÊÜÁãàËáñÜÅí
4. ¯»Üì¿Þ
A) 1 ÊÜÞñÜÅ B) 1 ÊÜáñÜá¤ 2 ÊÜÞñÜÅ C) 3 ÊÜÞñÜÅ d) 4 ÊÜÞñÜÅ

34. PæÙÜWæ ¯àvÜÇÝXÃÜáÊÜ ÖæàÚPæWÜÙÜ®Üá° (1) ÊÜáñÜá¤ (2) Gí¨Üá WÜáÃÜá£ÓÜÇÝX¨Üáª™, AÊÜâWÜÚWæ ÓÜíŸí—Ô¨Üíñæ 
¿ÞÊÜ BÁáRWÜÙÜá ÓÜÊÜá±ÜìPÜÊæíŸá¨Ü®Üá° PÜívÜá×wÀáÄ.
1. PæàÃÜÙÜ¨Ü ±ÜíaÝ¿áñ… ÃÝh… ÓÜíÓæ§¿áÈÉ ÊÜá×Ùæ¿áÃÜ »ÝWÜÊÜ×ÓÜáËPæ AUÆ »ÝÃÜñÜ ÓÜÃÝÓÜÄXíñÜ 

ÖæaÝcX¨æ.
2. PæàÃÜÙÜ¨Ü ÊÜá×Ùæ¿áÃÜ ÓÝPÜÒÃÜñæ¿á ±ÜÅÊÜÞ|ÊÜâ ÃÝgÂ¨Ü ±ÜâÃÜáÐÜÃÜ ÓÝPÜÒÃÜñæ¿á ±ÜÅÊÜÞ|QRíñÜ ÖæaÝcX¨æ.
A) ÖæàÚPæ 1 ÊÜáñÜá¤ 2 ÓÜÄ¿ÞXÊæ ÊÜáñÜá¤  2 GíŸá¨Üá 1ÃÜ ÓÜÄ¿Þ¨Ü PÝÃÜ|ÊÝX¨æ
B) ÖæàÚPæ 1 ÊÜáñÜá¤ 2 ÓÜÄ¿ÞXÊæ B¨ÜÃæ 2 GíŸá¨Üá 1ÃÜ ÓÜÄ¿Þ¨Ü PÝÃÜ|ÊÜÆÉ
C) ÖæàÚPæ 1 ÊÜÞñÜÅ ÓÜÄ¿ÞX¨æ
d) GÃÜvÜã ÖæàÚPæWÜÙÜá ñÜ±Ý³XÊæ

35. PæàÃÜÙÜ¨ÜÈÉ®Ü Ë±ÜñÜá¤ ̄ ÊÜìÖÜOæ¿á ÓÜí¨Ü»Üì¨ÜÈÉ D PæÙÜX®Ü ¿ÞÊÜ A®ÜáPÜÅÊÜáÊÜâ ÍÝÓÜ®ÜŸ¨Üœ AÊÜÍÜÂPÜñæWÜÙÜ 
±ÜÅPÝÃÜ PÜÅÊÜáPæçWæãÙÜÛÆá ÓÜãbÓÜÇÝX¨æ ?
A) ÓÜ®Ü°¨Üœñæ, ±ÜÅ£QÅÁá, aæàñÜÄPæ, ñÜXYÓÜáËPæ
B) ÓÜ®Ü°¨Üœñæ, ±ÜÅ£QÅÁá, ñÜXYÓÜáËPæ, ±Üâ®ÜÊÜìÓÜ£
C) FÖÜ®æ, ÓÜ®Ü°¨Üœñæ, ±ÜÅ£QÅÁá, ñÜXYÓÜáËPæ
d) FÖÜ®æ, ÓÜ®Ü°¨Üœñæ, ±ÜÅ£QÅÁá, ±Üâ®ÜÊÜìÓÜ£

36. D PæÙÜX®ÜÊÜâWÜÙÜÈÉ ¿ÞÊÜâ¨Üá PæàÃÜÙÜ ÃÝgÂ ÊÜÞ×£ BÁãàWÜ¨Ü A—PÝÃÜÊÜÆÉ ?
A) ¨ÜívÜWÜÙÜ®Üá° Ë—ÓÜáÊÜâ¨Üá   

B) ±ÜÄÖÝÃÜÊÜ®Üá° ¯àvÜáÊÜâ¨Üá
C) ÎÓÜá¤PÜÅÊÜáPæR Î´ÝÃÜÓÜáÕ ÊÜÞvÜáÊÜâ¨Üá
d) ÊæáàÈ®Ü ¿ÞÊÜâ¨Üã AÆÉ

37. vÜ¿Þ¹qàÓ… C¯Õ²vÜÓ… GíŸá¨Üá D ÖÝÊæãàì¯®Ü PæãÃÜñæÀáí¨ÝX¨æ
A) WÜãÉPÜWÜ®… B) C®ÜáÕÈ®… C) GwGa… d) ¥æçÃÝQÕ®…

38. PÜÃÜáÙÜá C¨Ü®Üá° ÓÜÄ¿ÞX ×àÄPæãÙÜÛÆá ÓÝ«ÜÂÊÝWÜ©¨ÝªWÜ ±Ü¯ìÑ¿áÓ… A¯àËá¿Þ EípÝWÜáñÜ¤¨æ
A) PÜ¹º| B) ËoËá®… ¹12 C) ±æäÅqà®… d) S¯gWÜÙÜá
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39. Reservoir of KFd virus is

A) Pteropus B) Hard ticks C) Aedes d) Culex

40. According to WHO, Omicron is 

A) Highly divergent variant with a high number of mutations

B) low immune escape potential

C) low transmissibility

d) Variant of Interest (VOI)

41. Which statement is not true about Aardram mission ?

A) State level Accreditation Programme for Health Care Organization

B) One of the 4 missions under Navakerala mission

C) launched in February 2017

d) Primary focus is on SdG3. Good health and well-being

42. Which interventions significantly reduce the incidence and impact of stroke ?

i. Community intervention

ii. Life style modification

iii. Increased public literacy in the FAST method.

A) Only i and ii   B) Only i and iii 

C) Only ii and iii   d) All the above (i, ii, iii)

43. The level of pollution to which the organism and the local community were exposed 
is determined by

A) Biomagnification   B) Biomonitoring

C) Bioassessment   d) None of the above

44. Intranasal covid vaccine recipients demonstrated increased level of mucosal 
antibody

A) lgA B) lgd C) lgE d) lgm

45. Find the shortest wavelength present in the radiation from an x-ray machine whose 
accelerating potential is 40 kV. 
[Assume that the work-function is much less than the accelerating potential.]

A) 0.025 nm   B) 0.031 nm 

C) 0.021 nm   d) 0.041 nm

46. The unit of magnetic field strength (H) is

A) A/m B) A/m2 C) Am2/Kg d) Am2
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39. PæG´…w ÊæçÃÜÓ…®Ü PæãàÍÜ
A) pæÃæãà±ÜÓ… B) ÖÝv…ì qP…Õ C) HwÓ… d) PÜáÂÇæP…Õ

40. WHO ±ÜÅPÝÃÜ, JËáPÝÅ®… GíŸá¨Üá
A) Öæbc®Ü ÓÜíTæÂ¿á ÃÜã±ÝíñÜÃÜWÜÙæãí©Wæ Ë¼®Ü°ÊÝ¨Ü ÃÜã±ÝíñÜÃÜ
B) PÜwÊæá ±ÜÅ£ÃÜPÜÒOæ¿á ±ÝÃÝWÜáÊÜ ÓÝÊÜá¥ÜÂì
C) PÜwÊæá ±ÜÅÓÜÃÜ|
d) BÓÜQ¤¿á ÊæçË«ÜÂ (VOI)

41. B¨ÜÅìÊÜå… ËáÐÜ®… ŸWæY ¿ÞÊÜ ÖæàÚPæ ¯gÊÜÆÉ ?
A) BÃæãàWÜÂ ÃÜPÜÒOÝ ÓÜíÓæ§WÝX ÃÝgÂÊÜáor¨Ü ÊÜÞ®ÜÂñÝ PÝ¿áìPÜÅÊÜá
B) ®ÜÊÜPæàÃÜÙÜ ËáÐÜ®… Aw¿áÈÉ®Ü 4 ËáÐÜ®…WÜÙÜÈÉ Jí¨Üá
C) 2017 ´æŸÅÊÜÄ¿áÈÉ BÃÜí¼ÓÜÇÝÀáñÜá
d) ±ÝÅ¥ÜËáPÜ WÜÊÜá®ÜÊÜâ SdG3 ÃÜ ÊæáàÈ¨æ. EñÜ¤ÊÜá BÃæãàWÜÂ™ÊÜáñÜá¤ ÁãàWÜPæÒàÊÜá

42. ¿ÞÊÜ ÖÜÓÜ¤PæÒà±ÜWÜÙÜá ÓæãóàP…®Ü ÓÜí»ÜÊÜ ÊÜáñÜá¤ ±ÜÄOÝÊÜáÊÜ®Üá° WÜÊÜá®ÝÖÜìÊÝX PÜwÊæá ÊÜÞvÜáñÜ¤Êæ ?
i. ÓÜÊÜáá¨Ý¿á¨Ü ÖÜÓÜ¤PæÒà±Ü
ii. iàÊÜ®Ü ÍæçÈ¿á ÊÜÞ±Ýìoá
iii. ´ÝÓ…r (FAST) Ë«Ý®Ü¨ÜÈÉ ÓÝÊÜìg¯PÜ ÓÝPÜÒÃÜñæ¿á®Üá° ÖæbcÔ¨æ.
A) i ÊÜáñÜá¤ ii ÊÜÞñÜÅ   B) i ÊÜáñÜá¤ iii ÊÜÞñÜÅ
C) ii ÊÜáñÜá¤ iii ÊÜÞñÜÅ  d) ÊæáàÈ®Ü GÆÉÊÜä (i, ii, iii)

43. iàË ÊÜáñÜá¤ ÓÜ§Úà¿á ÓÜÊÜáá¨Ý¿áÊÜâ ¿ÞÊÜ ÊÜÞÈ®ÜÂPæR JwxPæãíw¨æ GíŸá¨Ü®Üá° C¨ÜÄí¨Ü 
¯«ÜìÄÓÜÇÝWÜáñÜ¤¨æ ?
A) ŸÁãàÊÜÞÂX°µPæàÍÜ®…   B) ŸÁãàÊÜÞ¯oÄíW…
C) ŸÁãàAÓæÓ…Êæáíp…   d) ÊæáàÈ®Ü ¿ÞÊÜâ¨Üã AÆÉ

44. CípÝÅ®ÝÓÜÇ… PæãàËv… ÆÔPæ ÔÌàPÜÄÔ¨ÜÊÜÃÜá ¿ÞÊÜ ÊÜáãÂPæãàÓÜÇ… ±ÜÅ£PÝ¿á¨Ü Öæbc®Ü ÊÜáorÊÜ®Üá° 
±ÜÅ¨ÜÎìÔ¨ÜÃÜá ?
A) lgA B) lgd C) lgE d) lgm

45. ÊæàWÜÊÜ«ÜìPÜ ÓÝÊÜá¥ÜÂìÊÜâ 40 kV BXÃÜáÊÜ GP…Õ&Ãæà ¿áíñÜÅ©í¨Ü ËQÃÜ|¨ÜÈÉ CÃÜáÊÜ AñÜÂíñÜ PÜwÊæá 
ñÜÃÜíWÝíñÜÃÜÊÜ®Üá° PÜívÜá×wÀáÄ. 

  [PæÆÓÜ¨Ü PÝ¿áìÊÜâ ÊæàWÜÊÜ«ÜìPÜ ÓÝÊÜá¥ÜÂìQRíñÜ PÜwÊæá¿ÞX¨æ Gí¨Üá F×Ô.] 
A) 0.025 nm   B) 0.031 nm 

C) 0.021 nm   d) 0.041 nm

46. A¿áÓÝRí£à¿á PæÒàñÜÅ¨Ü ÍÜQ¤¿á ZoPÜ (H) Gí¨ÜÃæ
A) A/m B) A/m2 C) Am2/Kg d) Am2
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47. In photoelectron spectroscopy, the kinetic energy (K.E.) of photoelectrons is best 
represented by which of the following expression ?

[Here B.E. is the binding energy of the core electrons, ϕ is the work function, and 
hν is the energy of the incident x-ray photons.]

A) K.E. = hν + B.E.  B) K.E. = hν – B.E. + ϕ 

C) K.E. = hν – B.E. – ϕ  d) K.E. = hν + B.E. – ϕ

48. The Royal Swedish Academy of Sciences awarded the Nobel Prize in Physics 2022 
for

A) Quantum theory of optical coherence

B) development of methods to cool and trap atoms with laser light

C) discovery of the quantized Hall effect

d) Experiments with entangled photons

49. Which of the following is not a test for alkaloids ?

A) mayer test   B) Hager test

C) Wagner test   d) Salkowski test

50. If the critical temperature of a van der Waal’s gas is 300 K, the critical pressure is 
(Given that van der Waal’s constant, b = 0.02 dm3/mol and Gas constant,  
R = 0.08206 dm3 atm K–1mol–1)

A) 100 atm B) 50 atm C) 154 atm d) 110 atm

51. In the emission spectrum of Hydrogen, the series resulted from the transition of an 
electron from fifth energy level to first energy level is seen in

A) Ultraviolet region   B) Visible region

C) Infrared region   d) Far infrared region

52. Among the Nobel Prize winners of Chemistry in 2022, the person who receives the 
Nobel prize for second time is

A) Barry Sharpless   B) morten meldal

C) Anton Zeilinger   d) Carolyn Bertozzi

53. Name of the unpublished work of S.K. Pottekkatt

A) Vallikadevi  B) Prema Shiksha

C) North Avenue  d) Nile Diary

54. Who was the Sanskrit scholar who discovered the plays of Bhasa ?

A) K. A. Nilakanta Sastri   B) Jadunath Sarkar

C) S. Vaiyapuri Pillai   d) T. Ganapati Sastri
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47. ´æäàpæãàCÇæPÝó®… Óæ³PæãóàÓæãRà²®ÜÈÉ ´æäàpæãàCÇæPÝó®…®Ü aÜÆ®ÜÍÜQ¤ (K.E.) ¿á®Üá° D PæÙÜX®Ü ¿ÞÊÜ 
A¼ÊÜÂQ¤Àáí Ü̈ EñÜ¤ÊÜáÊÝX ±ÜÅ£¯—ÓÜÇÝWÜáñÜ¤̈ æ ? 

  [CÈÉ B.E. GíŸá Ü̈á Pæàí©Åà¿á (PæãàÃ…) CÇæPÝó®…WÜÙÜ Ÿí—ÓÜáÊÜ ÍÜQ¤¿ÞX æ̈, ϕ GíŸá Ü̈á PæÆÓÜ̈ Ü 
¹íŸPÜÊÝX æ̈ ÊÜáñÜá¤ hν GíŸá Ü̈á B±Ý£à¿á (incident) GP…Õ&Ãæà ǽäàpÝ®…WÜÙÜ ÍÜQ¤¿ÞX¨æ.]
A) K.E. = hν + B.E.  B) K.E. = hν – B.E. + ϕ 
C) K.E. = hν – B.E. – ϕ  d) K.E. = hν + B.E. – ϕ

48. ÃÝ¿áÇ… ÔÌàwÐ… APÝvæËá B´… Óæç¿á®…Õ 2022 ÃÜÈÉ C¨ÜPÝRX »èñÜÍÝÓÜ÷¨ÜÈÉ ®æãà¸æÇ… ±ÜÅÍÜÔ¤¿á®Üá° 
¯àwñÜá.
A) PÝÌíoÊÜå… ¦¿áÄ B´… J²rPÜÇ… PæãÖÜÃæ®…Õ
B) væÊÜÆ±…Êæáíp… B´… Êæá¥Üv…Õ oá PÜãÇ… BÂív… pÝÅ$Â±… BoÊÜå…Õ Ë¨… ÇæàÓÜÃ… Çæçp…
C) wÓÜRÊÜÄ B´… © PÝÌípæçÓ…v… ÖÝÇ… C´æP…r
d) GP…Õ±ÜÄÊæáíp…Õ Ë¨… GípÝÂíWÜÇ…x ´æäàpÝ®…Õ

49. PæÙÜX®ÜÊÜâWÜÙÜÈÉ ¿ÞÊÜâ¨Üá BÆRÇÝ¿å…x ±ÜÄàPæÒ¿áÆÉ ?
A) Êæáà¿áÃ… ±ÜÄàPæÒ  B) ÖÝÂWÜÃ… ±ÜÄàPæÒ
C) ÊÝÂWÜ°Ã… ±ÜÄàPæÒ   d) ÓÝÇæãRàËÕ$R ±ÜÄàPæÒ

50. ÊÝ®… vÜÃ… ÊÝÇ…Õ®Ü A¯Æ Ü̈ ¯OÝì¿áPÜ ñÝ±ÜÊÜÞ®ÜÊÜâ 300 K C Ü̈ªÃæ, ¯OÝì¿áPÜ JñÜ¤vÜÊÜâ (ÊÝ®… vÜÃ… 
ÊÝÇ…Õ®Ü Ô§ÃÝíPÜ, b = 0.02 dm3/mol ÊÜáñÜá¤ A¯Æ Ô§ÃÝíPÜ, R = 0.08206 dm3 atm K–1mol–1)

A) 100 atm B) 50 atm C) 154 atm d) 110 atm

51. ÖæçvæãÅàg®…®Ü ÖæãÃÜÓÜãÓÜáËPæ ÊÜ|ì±ÜoÆ¨ÜÈÉ, I¨Ü®æ¿á ÍÜQ¤¿á ÊÜáor©í¨Ü Êæã¨ÜÆ ÍÜQ¤¿á ÊÜáorPæR 
CÇæPÝó®…®Ü ±ÜÄÊÜñÜì®æÀáí¨Ü EípÝWÜáÊÜ ÍæÅà~ _________ ¨ÜÈÉ PÜívÜáŸÃÜáñÜ¤¨æ.
A) A£®æàÃÜÙæ ±ÜÅ¨æàÍÜ  B) PÝ|áÊÜ ±ÜÅ¨æàÍÜ
C) AÊÜÃÜPÜ¤ ±ÜÅ¨æàÍÜ  d) ¨ÜãÃÜ¨Ü AÊÜÃÜPÜ¤ (Far infrared) ±ÜÅ¨æàÍÜ

52. 2022ÃÜ ÃÜÓÝ¿á®Ü ÍÝÓÜ÷¨Ü ®æãà¸æÇ… ±ÜÅÍÜÔ¤ ËhæàñÜÃÜÈÉ™, GÃÜvÜ®æà ¸ÝÄ ®æãà¸æÇ… ±ÜÅÍÜÔ¤¿á®Üá° 
±Üvæ¨ÜÊÜÃÜá
A) ¸ÝÂÄ ÍÝ±…ìÇæÓ…  B) Êæãpæì®… ÊæáÇÝxÇ…
C) BÂío®… ÃækáçÈíWÜÃ…  d) PÝÂÃæãÈ®… ŸpæãàìÄká

53. GÓ…. Pæ. ±æäpærPÝRp… AÊÜÃÜ A±ÜÅPÜqñÜ PÜê£¿á ÖæÓÜÃÜá
A) ÊÜÈÉPÝ¨æàË  B) ±æÅàÊÜá ÎPÝÒ
C) ®Ýñ…ì AÊæ®ÜãÂ  d) ®æçÇ… væçÄ

54. »ÝÓÜ®Ü ®ÝoPÜWÜÙÜ®Üá° ¸æÙÜQWæ ñÜí¨Ü ÓÜíÓÜ¢ñÜ Ë¨ÝÌíÓÜ ¿ÞÃÜá ?
A) Pæ. G. ¯àÆPÜísÜ ÍÝÔ÷   B) hÝ¨Üá®Ý¥Ü ÓÜPÝìÃ…
C) GÓ…. Êæç¿á±ÜâÄ ²ÙæÛ$ç   d) q. WÜ|±Ü£ ÍÝÔ÷
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55. Who is the author of Pluto Priyapetta Pluto ?

A) P. Balachandran   

B) d. Vinayachandran

C) m. Govindan   

d) P. K. Balakrishnan

56. Which institution has urged stock exchanges to set up Investor Risk Reduction 
Access (IRRA) platform ?

A) Supreme Court   B) NITI Aayog

C) SEBI   d) RBI

57. In which Indian city the game of KhoKho originate ?

A) Pune   B) mumbai 

C) Raipur   d) mysore

58. Who invented sound effects in movies ?

A) Jack Foley   B) Eric m. C. Tigerstedt

C) James Cagney   d) lee de Forest

59. Who started ‘‘Panthibhojanam’’ in Kerala ?

A) Vaikunda Swamikal   

B) Chattambi Swamikal

C) Sree Narayana Guru   

d) Thycaud Ayya

60. Which is the HTml tag used to create a hyperlink ?

A) <link> B) <a> C) <b> d) <meta>

61. Which of the following are used to store data permanently ?

i. RAm

ii. Hard disk

iii. Cache memory

iv. dVd

A) i, ii and iii   B) ii and iii 

C) ii and iv   d) ii, iii and iv

62. Select the malicious software from those given below.

A) device driver   B) Antivirus 

C) Firewall   d) Keylogger



 060/23 – K

a -21- 

55. ±ÜâÉpæã²Å¿á±æor ±ÜâÉpæã¨Ü ÇæàSPÜÃÜá ¿ÞÃÜá ?
A) ². ¸ÝÆaÜí¨ÜÅ®…
B) w. Ë®Ü¿áaÜí¨ÜÅ®…
C) Gí. WæãàËí¨Ü®…
d) ². Pæ. ¸ÝÆPÜêÐÜ¡®…

56. ¿ÞÊÜ ÓÜíÓæ§¿áá C®æÌÓÜrÃ… ÄÓ…R ÄvÜPÜÒ®… BÂPÜÕÓ… (IRRA) Êæà©Pæ¿á®Üá° ÓÝ§²ÓÜÆá ÐæàÃÜá Ë¯ÊÜá¿á 
Pæàí¨ÜÅWÜÙÜ®Üá° JñÝ¤ÀáÔ¨æ ?
A) ÓÜá²Åàí Pæãàp…ì  B) ¯à£ BÁãàWÜ
C) GÓ…C¹I  d) BÃ…¹I

57. TæãàTæãà BoÊÜâ »ÝÃÜñÜ¨Ü ¿ÞÊÜ ®ÜWÜÃÜ¨ÜÈÉ ÖÜáqrPæãíwñÜá ?
A) ±ÜâOæ  B) ÊÜááí¸æç 
C) ÃÝ¿å…±ÜâÃ…  d) ÊæáçÓÜãÃÜá

58. aÜÆ®ÜbñÜÅWÜÙÜÈÉ «ÜÌ¯ ±ÜÄOÝÊÜáWÜÙÜ®Üá° PÜívÜá×w¨ÜÊÜÃÜá ¿ÞÃÜá ?
A) hÝÂP… ´æäàÇæ   B) GÄP… Gí. Ô. pæçWÜÃ…Óærv…
C) hæàÊÜå…Õ PÝÂX°   d) Èà w ´ÝÃæÓ…r

59. PæàÃÜÙÜ¨ÜÈÉ ""±Üí¦»æãàg®Üí'' BÃÜí¼Ô¨ÜÊÜÃÜá ¿ÞÃÜá ?
A) ÊæçPÜáívÜ ÓÝÌËáPÜÙ…
B) aÜpÝrí¹ ÓÝÌËáPÜÙ…
C) ÎÅà ®ÝÃÝ¿á| WÜáÃÜá
d) ñæçPÝv… A¿áÂ

60. Öæç±ÜÃ…ÈíP… ÃÜbÓÜÆá ŸÙÜÓÜáÊÜ HTml pÝÂW… ¿ÞÊÜâ¨Üá ?
A) <link> B) <a> C) <b> d) <meta>

61. væàpÝÊÜ®Üá° ÍÝÍÜÌñÜÊÝX ÓÜíWÜÅ×ÓÜÆá D PæÙÜX®ÜÊÜâWÜÙÜÈÉ ¿ÞÊÜâ¨Ü®Üá° ŸÙÜÓÜÇÝWÜáñÜ¤¨æ ?
i. ÃÝÂÊÜå…
ii. ÖÝv…ì wÓ…R
iii. PÝÂÍ… ÊæáÊæãÄ
iv. wËw
A) i, ii ÊÜáñÜá¤ iii   B) ii ÊÜáñÜá¤ iii 
C) ii ÊÜáñÜá¤ iv   d) ii, iii ÊÜáñÜá¤ iv

62. PæÙÜWæ ¯àvÜÇÝ¨ÜÊÜâWÜÚí¨Ü ¨ÜáÃÜá¨æªàÍÜ±ÜäÄñÜ ÓÝ´…rÊæàÃ… A®Üá° BÁáR ÊÜÞw.
A) wÊæçÓ… væùÊÜÃ…   B) BÂíqÊæçÃÜÓ… 
C) ´æçÃ…ÊÝÇ…  d) QàÇÝWÜÃ…
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63. match the following :

1. Oracle a. Image editor

2. Facebook b. Search engine

3. Gimp c. mobile phone

4. Google d. Operating system

e. Social media

f. RdBmS

A) 1 – d, 2 – e, 3 – c, 4 – f

B) 1 – f, 2 – a, 3 – d, 4 – f

C) 1 – f, 2 – e, 3 – a, 4 – b

d) 1 – d, 2 – c, 3 – f, 4 – b

64. Choose the Super Computer developed by Indian scientists.

A) PARAm B) SUmmIT C) mIRA d) SIERRA

65. Which of the following statement is/are correct about the POCSO Act, 2012 ?

The medical examination of a child in respect of whom any offence has been 
committed under this Act shall be conducted

i. In accordance with Section 164A of the Code of Criminal Procedure, 1973.

ii. The medical examination shall be conducted in the presence of the parent of the 
child or any other person in whom the child reposes trust or confidence.

iii. In the absence of parent or any other person in whom the child reposes trust or 
confidence, the medical examination shall be conducted in the presence of a woman 
nominated by the head of the medical institution.

A) Only i   

B) Only i and ii

C) Only ii and iii   

d) All of the above (i, ii and iii)

66. Which among the following is not a function of the National Council for Transgender 
Persons ?

A) To monitor and evaluate the impact of policies and programmes designed for achieving 
equality and full participation of  transgender persons

B) Issuing of certificate of identity, if a transgender person undergoes surgery to change 
gender

C) To redress the grievances of transgender persons

d) All of the above
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63. PæÙÜX®ÜÊÜâWÜÙÜ®Üá° Öæãí©Ô :
1. JÃÝPÜÇ… a. CÊæáàh… GwoÃ…
2. ´æàÓ…ŸáP… b. ÓÜa…ì Cíi®…
3. Xí±… c. Êæã¸æçÇ… ´æäà®…
4. WÜãWÜÇ… d. B±ÜÃæàqíW… ÔÓÜrí

e. ÓæãàÑ¿áÇ… Ëáàw¿Þ
f. BÃ…w¹GíGÓ…

A) 1 – d, 2 – e, 3 – c, 4 – f

B) 1 – f, 2 – a, 3 – d, 4 – f

C) 1 – f, 2 – e, 3 – a, 4 – b

d) 1 – d, 2 – c, 3 – f, 4 – b

64. »ÝÃÜ£à¿á ËhÝn¯WÜÙÜá A¼ÊÜê©œ±ÜwÔ¨Ü ÓÜã±ÜÃ… PÜí±ÜäÂoÃÜ®Üá° BÄÔÄ.
A) PARAm B) SUmmIT C) mIRA d) SIERRA

65. POCSO PÝÀá¨æ, 2012 ÃÜ ŸWæX®Ü D PæÙÜX®Ü ÖæàÚPæWÜÙÜÈÉ ¿ÞÊÜâ¨Üá ÓÜÄ¿ÞX¨æ ?
  D PÝÀá¨æ¿á Aw¿áÈÉ ¿ÞÊÜâ¨æà A±ÜÃÝ«Ü GÓÜWÜÆ³qrÃÜáÊÜ ÊÜáWÜáË®Ü Êæç¨ÜÂQà¿á ±ÜÄàPæÒ¿á®Üá° 

®ÜvæÓÜñÜPÜR¨Üáª™
i. A±ÜÃÝ«Ü ±ÜÅQÅ¿Þ ÓÜí×ñæ, 1973 ÃÜ ÓæPÜÒ®…164A Wæ A®ÜáWÜá|ÊÝX.
ii. Êæç¨ÜÂQà¿á ±ÜÄàPæÒ¿á®Üá° ÊÜáWÜáË®Ü ±æäàÐÜPÜÃÜá A¥ÜÊÝ ÊÜáWÜá ®Üí¹Pæ A¥ÜÊÝ ËÍÝÌÓÜÊÜ®Üá° Öæãí©ÃÜáÊÜ 

¿ÞÊÜâ¨æà ÊÜÂQ¤¿á E±ÜÔ§£¿áÈÉ ®ÜvæÓÜ¸æàPÜá.
iii. ±æäàÐÜPÜÃÜá A¥ÜÊÝ ÊÜáWÜá ®Üí¹Pæ A¥ÜÊÝ ËÍÝÌÓÜÊÜ®Üá° Öæãí©ÃÜáÊÜ ¿ÞÊÜâ¨æà ÊÜÂQ¤¿á A®Üá±ÜÔ§£¿áÈÉ 

Êæç¨ÜÂQà¿á ±ÜÄàPæÒ¿á®Üá° Êæç¨ÜÂQà¿á ÓÜíÓæ§¿á ÊÜááSÂÓÜ§ÃÜá ®ÝÊÜá ¯¨æàìÍÜ®Ü ÊÜÞw¨Ü ÊÜá×Ùæ¿á 
E±ÜÔ§£¿áÈÉ ®ÜvæÓÜ¸æàPÜá.

A) i ÊÜÞñÜÅ  
B) i ÊÜáñÜá¤ ii ÊÜÞñÜÅ
C) ii ÊÜáñÜá¤ iii ÊÜÞñÜÅ  
d) ÊæáàÈ®Ü GÆÉÊÜä (i, ii ÊÜáñÜá¤ iii)

66. D PæÙÜX®ÜÊÜâWÜÙÜÈÉ ¿ÞÊÜâ¨Üá ñÜê£à¿á ÈíXWÜÙÜ ÃÝÑóà¿á ±ÜÄÐÜ£¤®Ü PÝ¿áìÊÜÆÉ ?
A) ÓÜÊÜÞ®Üñæ ÊÜáñÜá¤ ñÜê£à¿á ÈíX ÊÜÂQ¤WÜÙÜ ÓÜí±Üä|ì »ÝWÜÊÜ×ÓÜáËPæ¿á®Üá° ÓÝ—ÓÜÆá Ë®ÝÂÓÜWæãÚÓÜÇÝ¨Ü 

¯à£WÜÙÜá ÊÜáñÜá¤ PÝ¿áìPÜÅÊÜáWÜÙÜ ±ÜÅ»ÝÊÜÊÜ®Üá° ÊæáàÈÌaÝÃÜOæ ÊÜáñÜá¤ ÊÜåèÆÂÊÜÞ±Ü®Ü ÊÜÞvÜáÊÜâ¨Üá
B) ñÜê£à¿á ÈíX ÊÜÂQ¤WÜÙÜá ÈíWÜÊÜ®Üá° Ÿ Ü̈ÇÝÀáÓÜÆá ÍÜÓÜ÷bQñæÕWæ JÙÜWÝX¨ÜªÃæ WÜáÃÜá£®Ü ±ÜÅÊÜÞ|±ÜñÜÅÊÜ®Üá° 

¯àvÜáÊÜâ¨Üá
C) ñÜê£à¿á ÈíX ÊÜÂQ¤WÜÙÜ PÜáí¨ÜáPæãÃÜñæWÜÙÜ®Üá° ¯ÊÝÄÓÜáÊÜâ¨Üá 
d) ÊæáàÈ®Ü GÆÉÊÜä
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67. Which of the following is not a consumer right mentioned under the Consumer 
Protection Act, 2019 ?
A) Assured that consumer’s interests will receive due consideration at appropriate 

fora
B) The right to seek redressal against restrictive trade practices
C) The right to be assured, wherever possible, access to a variety of goods, products 

or services at lowest price
d) The right to consumer awareness

68. Which of the following statement regarding the Right to Information Act, 2005 is wrong ?
A) An applicant making request for information shall not be required to give any reason 

for requesting the information
B) There shall be no obligation to give any citizen, information including intellectual 

property
C) The term ‘information’ includes information relating to any private body which can 

be accessed by a public authority under an existing law
d) None of the above

69. Which of the following statement is/are correct about the National Women’s 
Commission Act, 1990 ?

i. Petitions having a civil nature such as violations of contractual rights or obligations 
are not considered in the Commission.

ii. The Commission shall fund litigation involving issues affecting a large body of 
women.

iii. The Commission shall participate and advise on the planning process of  
socio-economic development of women.

A) Only i and iii   B) Only i and ii
C) Only ii and iii   d) All of the above (i, ii and iii)

70. Which of the following is correct regarding the Kerala lok Ayukta (Amendment) 
Ordinance, 2022 ?
A) The Ordinance accords the competent authority, to accept or reject the decision of 

the lok Ayukta
B) The Ordinance gives some extra power to lok Ayukta in matters connected with 

public servants
C) The Ordinance ensure accountability upon lok Ayukta for its decisions
d) The Ordinance expand the power and authority of the lok Ayukta in respect of 

contempt of itself

71. In the given question if + means – , × means /, – means + and / means ×  then find 
out the answer of the following question.
– 576 – 46 + 30 – 52
A) 620 B) 610 C) 530 d) 644
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67. WÝÅÖÜPÜ ×ñÜÃÜPÜÒOÝ PÝÀá¨æ, 2019ÃÜ Aw¿áÈÉ EÇæÉàUÔÃÜáÊÜíñæ D PæÙÜX®ÜÊÜâWÜÙÜÈÉ ¿ÞÊÜâ¨Üá WÝÅÖÜPÜ 
ÖÜPÜáR BXÆÉ ?
A) WÝÅÖÜPÜ®Ü ×ñÝÓÜQ¤WÜÙÜ ÓÜãPÜ¤ Êæà©PæWÜÙÜÈÉ ÓÜÄ¿Þ¨Ü ±ÜÄWÜ|®æ¿á®Üá° ±Üvæ¿ááñÜ¤Êæ GíŸ »ÜÃÜÊÜÓæ
B) ¯Ÿìí—ñÜ ÊÝÂ±ÝÃÝ»ÝÂÓÜWÜÙÜ ËÃÜá¨Üœ ±ÜÄÖÝÃÜÊÜ®Üá° ÖÜávÜáPÜáÊÜ ÖÜPÜáR
C) ÓÝ«ÜÂËÃÜáÊÜÇæÉÆÉ PÜwÊæá ¸æÇæWæ ËË«Ü ÓÜÃÜPÜáWÜÙÜá, EñÜ³®Ü° A¥ÜÊÝ ÓæàÊæWÜÚWæ ±ÜÅÊæàÍÜÊÜÞWÜì 

TÝñÜÄ±ÜwÓÜáÊÜ ÖÜPÜáR
d) WÝÅÖÜPÜÃÜ AÄË®Ü ÖÜPÜáR

68. ÊÜÞ×£ ÖÜPÜáR PÝÀá¨æ, 2005PæR ÓÜíŸí—Ô¨Üíñæ D PæÙÜX®Ü ÖæàÚPæWÜÙÜÈÉ ¿ÞÊÜâ¨Üá ñÜ±Ý³X¨æ ?
A) ÊÜÞ×£WÝX Ë®Üí£¿á®Üá° ÓÜÈÉÓÜáÊÜ Aiì¨ÝÃÜÃÜá ÊÜÞ×£¿á Ë®Üí£WÝX ¿ÞÊÜâ¨æà PÝÃÜ|ÊÜ®Üá° 

¯àvÜáÊÜ AWÜñÜÂËÆÉ
B) ¸è©œPÜ BÔ¤ ÓæàÄ¨Üíñæ ¿ÞÊÜâ¨æà ®ÝWÜÄPÜÄWæ ÊÜÞ×£¿á®Üá° ¯àvÜÆá ¿ÞÊÜâ¨æà ¸Ý«ÜÂñæ CÃÜáÊÜâ©ÆÉ
C) AÔ¤ñÜÌ¨ÜÈÉÃÜáÊÜ PÝ®Üã¯®Ü Aw¿áÈÉ ÓÝÊÜìg¯PÜ ±ÝÅ—PÝÃÜ©í¨Ü ¨æãÃÜQÔPæãÙÜÛŸÖÜá¨Ý¨Ü ¿ÞÊÜâ¨æà 

TÝÓÜX ÓÜíÓæ§Wæ ÓÜíŸí—Ô¨Ü ÊÜÞ×£¿á®Üá° "ÊÜÞ×£' GíŸ ±Ü¨Ü JÙÜWæãíwÃÜáñÜ¤¨æ
d) ÊæáàÈ®Ü ¿ÞÊÜâ¨Üã AÆÉ

69. ÃÝÑóà¿á ÊÜá×Ùæ¿áÃÜ BÁãàWÜ PÝÀá¨æ, 1990ÃÜ ŸWæX®Ü D PæÙÜX®Ü ¿ÞÊÜ ÖæàÚPæ¿áá/WÜÙÜá 
ÓÜÄ¿ÞX¨æ/Êæ ?

i. J±Ü³í¨Ü¨Ü ÖÜPÜáRWÜÙÜá A¥ÜÊÝ PÜoár±ÝvÜáWÜÙÜ EÆÉíZ®æWÜÙÜíñÜÖÜ ®ÝWÜÄPÜ ÓÜÌÃÜã±ÜÊÜ®Üá° Öæãí©ÃÜáÊÜ 
AiìWÜÙÜá BÁãàWÜ¨ÜÈÉ ±ÜÄWÜ~ÓÜÇÝWÜáÊÜâ©ÆÉ™.

ii. BÁãàWÜÊÜâ ÊÜá×Ùæ¿áÃÜ ¨æãvÜx ÓÜÊÜáãÖÜÊÜ®Üá° ¸Ý—ÓÜáÊÜ ÓÜÊÜáÓæÂWÜÙÜ®Üá° JÙÜWæãívÜ ¨ÝÊæWÜÚWæ 
¯—¿á®Üá° ¯àvÜáñÜ¤¨æ.

iii. ÊÜá×Ùæ¿áÃÜ ÓÜÊÜÞhæãà&B¦ìPÜ A¼ÊÜê©œ Áãàg®æ ±ÜÅQÅÁáWÜÙÜÈÉ BÁãàWÜÊÜâ »ÝWÜÊÜ×Ô ÓÜÆÖæ 
¯àvÜáñÜ¤¨æ.

A) i ÊÜáñÜá¤ iii ÊÜÞñÜÅ  B) i ÊÜáñÜá¤ ii ÊÜÞñÜÅ
C) ii ÊÜáñÜá¤ iii ÊÜÞñÜÅ  d) ÊæáàÈ®Ü GÆÉÊÜä (i, ii ÊÜáñÜá¤ iii)

70. PæàÃÜÙÜ ÇæãàPÝ¿ááPÜ¤ (£¨Üáª±Üw) ÓÜáXÅàÊÝhæn , 2022PæR ÓÜíŸí—Ô¨Üíñæ D PæÙÜX®ÜÊÜâWÜÙÜÈÉ ¿ÞÊÜâ¨Üá 
ÓÜÄ¿ÞX¨æ ?
A) ÇæãàPÝ¿ááPÜ¤¨Ü ¯«ÝìÃÜÊÜ®Üá° AíXàPÜÄÓÜÆá A¥ÜÊÝ £ÃÜÓÜRÄÓÜÆá ÓÜáXÅàÊÝhæn¿áá ÓÜÊÜá¥Üì 

A—PÝÃÜÊÜ®Üá° ¯àvÜáñÜ¤¨æ
B) ÓÝÊÜìg¯PÜ ÓæàÊæ¿áÈÉÃÜáÊÜÊÜÄWæ ÓÜíŸí—Ô¨Ü ËÐÜ¿áWÜÙÜÈÉ ÇæãàPÝ¿ááPÜ¤PæR ÓÜáXÅàÊÝhæn¿áá PæÆÊÜâ 

ÖæaÜácÊÜÄ A—PÝÃÜÊÜ®Üá° ¯àvÜáñÜ¤¨æ.
C) ÓÜáXÅàÊÝhæn¿áá ñÜ®Ü° ¯«ÝìÃÜWÜÚWæ ÇæãàPÝ¿ááPÜ¤¨Ü ÊæáàÇæ ÖæãOæWÝÄPæ¿á®Üá° SbñÜ±ÜwÓÜáñÜ¤¨æ
d) ÓÜáXÅàÊÝhæn¿áá ÇæãàPÝ¿ááPÜ¤¨Ü A—PÝÃÜ ÊÜáñÜá¤ A—PÜêñÜñæ¿á®Üá° ñÜ®Ü°¨æà ¯í¨Ü®æWæ ÓÜíŸí—Ô¨Üíñæ 

ËÓÜ¤ÄÓÜáñÜ¤¨æ
71. ¯àvÜÇÝXÃÜáÊÜ ±ÜÅÍæ°¿áÈÉ  + Gí¨ÜÃæ  – , × Gí¨ÜÃæ  /, – Gí¨ÜÃæ  + ÊÜáñÜá¤ / Gí¨ÜÃæ  ×  Gí©¨ÜªÃæ D 

PæÙÜX®Ü ±ÜÅÍæ°Wæ EñÜ¤ÃÜÊÜ®Üá° PÜívÜá×wÀáÄ.
– 576 – 46 + 30 – 52
A) 620 B) 610 C) 530 d) 644
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72. The ratio of the 21st term to the 30th term of an A.P. is 3 : 4. Then the ratio of the sum 
of the first 10 terms to the sum of the first 31 terms is

A) 115 : 682 B) 115 : 131 C) 5 : 31 d) 23 : 22

73. A 125 meters long train is moving at 30 km/h. It will cross a lamp post on the platform in

A) 12 sec. B) 13.5 sec. C) 15 sec. d) 5.1 sec.

74. Average mark of ten students of a class in certain subject is 45. However it is seen 
that 4 of the 10 students also have an average mark of 45. What will be the average 
mark of the remaining six students of the class ?

A) 30 B) 43 C) 50 d) 45

75. A shopkeeper sells a article at a profit of 10%. If he had bought it at 8% less and sold 
it for Rs. 8 more, he would have gained 20% profit. The cost price of the article is

A) Rs. 200 B) Rs. 2,000 C) Rs. 1,000 d) Rs. 125

76. A train for New delhi leaves every 50 minutes from a railway station. An enquiry 
clerk told a man that the train had already left 20 minutes ago and the next train will 
leave at 10 : 25 a.m. At what time was the information given to the man ?

A) 9 : 35 a.m. B) 9 : 25 a.m. C) 9 : 55 a.m. d) 9 : 45 a.m.

77. Raju left home and walked 3 km towards South, then turned right and walked 2 km 
and again turned right and walked 3 km. After this he turned left and walked 5 km. 
How many kilometers will he have to walk to reach his home straight ?

A) 10 km B) 5 km C) 6 km d) 7 km

78. Find the missing term.

4 3 2

8 9 36

16 27 24

8 9 ?

A) 12 B) 8 C) 27 d) 24

79. The next term of the following letter series will be :

CAW, HFT, mKQ, RPN,

A) UTy B) WUy C) WUK d) URJ

80. Find the odd number/letters/word from the given alternatives.

A) 6820 B) 7920 C) 3740 d) 4270
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72. Jí¨Üá ÓÜÊÜÞíñÜÃÜ ÍæÅà~¿á 21®æà ±Ü¨Ü ÊÜáñÜá¤ 30®æà ±Ü¨Ü¨Ü A®Üá±ÝñÜÊÜâ 3 : 4 B¨ÜÃæ Êæã¨ÜÆ  
31 ±Ü¨ÜWÜÙÜ ÊæãñÜ¤PæR Êæã¨ÜÆ 10 ±Ü¨ÜWÜÙÜ ÊæãñÜ¤¨Ü A®Üá±ÝñÜÊÜâ
A) 115 : 682 B) 115 : 131 C) 5 : 31 d) 23 : 22

73. 125 ËáàoÃ… E¨Üª¨Ü ÃæçÆá ±ÜÅ£ WÜípæWæ 30 Q.Ëáà. ÊæàWÜ Ü̈ÈÉ aÜÈÓÜáñÜ¤¨æ. A¨Üá ±ÝÉ$Âp…´ÝÊÜå…ì®ÜÈÉ®Ü 
©à±Ü¨Ü PÜíŸÊÜ®Üá° ___________ WÜÙÜÈÉ  ¨ÝoáñÜ¤¨æ.
A) 12 ÓæPæívÜá B) 13.5 ÓæPæívÜá C) 15 ÓæPæívÜá d) 5.1 ÓæPæívÜá

74. Jí¨Üá ¯©ìÐÜr ËÐÜ¿á¨ÜÈÉ Jí¨Üá ñÜÃÜWÜ£¿á ÖÜñÜá¤ Ë¨ÝÂ¦ìWÜÙÜ ÓÜÃÝÓÜÄ AíPÜ 45. B¨ÝWÜãÂ  
10 Ë¨ÝÂ¦ìWÜÙÜÈÉ 4 Ë¨ÝÂ¦ìWÜÙÜá PÜãvÝ 45 ÓÜÃÝÓÜÄ AíPÜÊÜ®Üá° ±Üvæ©¨ÝªÃæ. ÖÝWÝ¨ÜÃæ 
ñÜÃÜWÜ£¿á EÚ¨Ü BÃÜá Ë¨ÝÂ¦ìWÜÙÜ ÓÜÃÝÓÜÄ AíPÜ GÐÜár ?
A) 30 B) 43 C) 50 d) 45

75. JŸº AíWÜw¿áÊÜ®Üá Jí¨Üá ÊÜÓÜá¤ÊÜ®Üá° 10% ÇÝ»Ü¨ÜÈÉ ÊÜÞÃÜáñÝ¤®æ. Jí¨Üá ÊæàÙæ AÊÜ®Üá A¨Ü®Üá° 
8% PÜwÊæá ¸æÇæWæ PæãívÜáPæãívÜá 8 ÃÜã±ÝÀá ÖæaÜác ¸æÇæWæ ÊÜÞÃÝo ÊÜÞw¨ÜªÃæ AÊÜ®Üá 20% ÖæaÜác 
ÇÝ»ÜÊÜ®Üá° WÜÚÓÜá£¤¨Üª™. B ÊÜÓÜá¤Ë®Ü AÓÜÆá ¸æÇæ GÐÜár ?
A) ÃÜã. 200 B) ÃÜã. 2,000 C) ÃÜã. 1,000 d) ÃÜã. 125

76. ®ÜÊÜ¨æÖÜÈWæ ÃæçÆá ±ÜÅ£ 50 ¯ËáÐÜWÜÚWæãÊæá¾ ÃæçÆá ¯ÇÝª|©í¨Ü ÖæãÃÜvÜáñÜ¤¨æ. ËaÝÃÜOæ¿á 
WÜáÊÜÞÓÜ¤ÃæãŸºÃÜá JŸº ÊÜÂQ¤Wæ ÃæçÆá DWÝWÜÇæà 20 ¯ËáÐÜWÜÙÜ ×í¨æ ÖæãÃÜq¨æ ÊÜáñÜá¤ ÊÜááí©®Ü ÃæçÆá 
¸æÚWæY 10 : 25 PæR ÖæãÃÜvÜÈ¨æ Gí¨Üá ÊÜÞ×£ ¯àw¨ÜÃÜá. B ÊÜÂQ¤Wæ GÐÜár ÓÜÊÜá¿áPæR ÊÜÞ×£¿á®Üá° 
¯àvÜÇÝÀáñÜá ?
A) ¸æÚWæY 9 : 35  B) ¸æÚWæY 9 : 25 C) ¸æÚWæY 9 : 55  d) ¸æÚWæY 9 : 45

77. ÃÝgá ñÜ®Ü° ÊÜá®æÀáí¨Ü ÖæãÃÜoá ¨ÜQÒ|¨Ü PÜvæWæ 3 Q.Ëáà. ®Üvæ¨Ü®Üá. A®ÜíñÜÃÜ ŸÆPæR £ÃÜáX 2 Q.Ëáà. ®Üvæ¨Üá 
ÊÜáñæ¤ ŸÆPæR £ÃÜáX 3 Q.Ëáà. ®Üvæ¨Ü®Üá. A®ÜíñÜÃÜ GvÜPæR £ÃÜáX 5 Q.Ëáà. ®Üvæ¨Ü®Üá. AÊÜ®Üá CÃÜáÊÜÈÉí¨Ü 
®æàÃÜÊÝX ÊÜá®æWæ ñÜÆá±ÜÆá GÐÜár Q.Ëáà. ®Üvæ¿á¸æàPÜá ?
A) 10 Q.Ëáà. B) 5 Q.Ëáà. C) 6 Q.Ëáà. d) 7 Q.Ëáà.

78. ¹oárÖæãàXÃÜáÊÜ ÓÜíTæÂ¿á®Üá° PÜívÜá×wÀáÄ :
4 3 2

8 9 36

16 27 24

8 9 ?

A) 12 B) 8 C) 27 d) 24

79. PæÙÜX®Ü APÜÒÃÜ ÓÜÃÜ~¿á ®ÜíñÜÃÜ¨Ü ±Ü¨ÜÊÜ®Üá° PÜívÜá×wÀáÄ :
CAW, HFT, mKQ, RPN,
A) UTy B) WUy C) WUK d) URJ 

80. PæÙÜWæ ¯àvÜÇÝXÃÜáÊÜ ±Ü¿Þì¿áWÜÚí¨Ü WÜáí²Wæ ÓæàÃÜ¨Ü ÓÜíTæÂ/APÜÒÃÜ/±Ü¨ÜÊÜ®Üá° PÜívÜá×wÀáÄ.
A) 6820 B) 7920 C) 3740 d) 4270
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 81. Provide a suitable question tag for the following statement :
  They are coming to the party,
 A)  Isn’t it ? B) Won’t they ? C) Aren’t they ? d) Will they ?

 82. Correct the following sentence :
  When I reached the station, the train already left.
 A) As I reached the station, the train already left.
 B) When I reached the station, the train left.
 C) When I reached the station, the train was already leaving.
 d) When I reached the station, the train had already left.

 83. Change the following sentence into the comparative degree :
  April is the hottest month of the year.
 A) April is the hotter month of the year.
 B) April is hotter than all other months of the year.
 C) April is a very hot month, compared to the other months.
 d) All other months are cooler than April.

 84. Fill up with the correct preposition :
  I prefer coffee ___________ tea.
 A) than B) to C) above d) upon

 85. Fill up with the correct tense of the verb given in bracket :
  What  would the girl do if she ____________ (miss) the train ?
 A) missed B) misses C) miss d) would miss

 86. Choose the correct synonym for the following word : 
  Extravagant
 A)  Wealthy B) Frugal C) lavish d) Thrifty

 87. Fill up with the correct phrasal verb :
  The public meeting was ___________ because of bad weather.
 A)  called in B) called off C) called out d) called away

 88. Rewrite the sentence using a single word instead of the phrase in italics :
  The teachers said the boy was incapable of being corrected, after he misbehaved 

repeatedly.
 A) Incorrigible B) Uncorrectable C) disobedient d) Unbearable

 89. Choose the correct option to fill in the blank :
  The school therapist ___________ students who have problems in studying.
 A) Councils B) Counsels C) Consuls d) Consults

 90. Choose the correct meaning of the phrase ‘‘to let the cat out of the bag”.
 A) Set the cat free   B) To clean out the bag

 C) To let something take its own course d) To reveal a secret
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 91. PæÙÜWæ PæãqrÃÜáÊÜÊÜâWÜÙÜÈÉ A®ÜÂ¨æàÎà¿á ±Ü¨Ü ¿ÞÊÜâ¨Üá ?
 A) ®æÆ B) Ÿ¿áÆá C) ±æà±ÜÃÜá d) ®æàÓÜÃÜ
 92. "¨Ý¨ÝÓÝÖæà¸… ´ÝÇæR' ±ÜÅÍÜÔ¤¿á®Üá° ±Üvæ¨Ü Êæã¨ÜÆ PÜ®Ü°wWÜ ¿ÞÃÜá ?
 A) vÝ>> ÃÝh…PÜáÊÜÞÃ…   B) ËÐÜá¡ÊÜ«Üì®… 
 C) ÍÜíPÜÃ…®ÝW…   d) ÇæãàPæàÍ…
 93. ÊÜÞË®Ü ÊÜáÃÜ¨ÜÈÉ ÖÜQR¿á WÜãvÜá C¨æ. D ÊÝPÜÂ¨ÜÈÉ AwWæÃæ GÙæ¨Ü ±Ü¨ÜÊÜâ ¿ÞÊÜ Ë»ÜQ¤¿áÈÉ¨æ ?
 A) ±ÜÅ¥ÜÊÜá   B) ©Ì£à¿á 
 C) aÜñÜá¦ì   d) ÓÜ±Ü¤Ëá
 94. BWÜÊÜá ÓÜí—Wæ E¨ÝÖÜÃÜOæ
 A) ÓÜáÃæàÍÜ   B) ÊÜáÈÉWæ¿ÞWÜá 
 C) GÇæÉvæ   d) PÜíŸ¯
 95. ÓÜÄ¿Þ¨Ü ÍÜŸªÊÜ®Üá° BÄÔ ŸÃæÀáÄ.
 A) EPÜêÐÜr B) EñÜðÐÜr C) EñÜ¢ÐÜr d) EPÜ÷ÐÜr
 96. “Twinkle Twinkle little Star ” GíŸ ±Ü¨ÜÂÊÜ®Üá° ±Üíhæ¿áÊÜÃÜá A®ÜáÊÝ©ÔÃÜáÊÜâ¨Üá ×àWæ 
 A) ÖæãÙæ ÖæãÙæ ®ÜPÜÒñÜÅ   B) ¸æÙÜWÜá ¸æÙÜWÜá ®ÜPÜÒñÜÅ
 C) ËáíaÜá ËáíaÜá ®ÜPÜÒñÜÅ   d) Ëá®ÜáWæÇæ Ëá®ÜáWæÇæ ®ÜPÜÒñÜÅ
 97. "£Ãæ' D ±Ü¨Ü¨Ü A¥Üì ŸÃæÀáÄ.
 A) ©®æ° B) ¨Ü®Ü C) »ÜãËá d) ÓÜÊÜáãÖÜ
 98. "ÓæãWÜ' D ±Ü¨ÜÊÜâ ¿ÞÊÜ ±Ü¨Ü¨Ü ñÜ¨Ü½ÊÜ ÃÜã±ÜÊÝX¨æ ?
 A) ÓÜÌWÜì   B) ÓæãŸWÜá 
 C) ÓÜá«æ   d) ÓÜáS
 99. "ÊÝÄ—' GíŸ ±Ü¨Ü¨Ü ±Ü¿Þì¿á ±Ü¨Ü ¿ÞÊÜâ¨Üá ?
 A) ñÝÊÜÃæ   B) ÓÜÊÜáá¨ÜÅ 
 C) aÜí¨ÜÅ   d) »ÜãËá
 100. ‘Effect’ G®Üá°ÊÜ ±Ü¨Ü¨Ü PÜ®Ü°vÜ »ÝÐÝíñÜÃÜ ÃÜã±Ü.
 A) ±ÜÄOÝÊÜá   B) ¨ÜáÐÜ³ÄOÝÊÜá 
 C) ÓæãàíPÜá   d) ¸Ý—ÓÜá
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S\Lh|°tORa BRW I¹U : 100 yopU : 90 o]j]ŸV 
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         DSh|LYL¡À]W¥¨Oç j]¡SÇw°¥

1. S\Lh|  WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV. a, B, c, d IÐ} jLsV Aƒq SWLcOWt]sOç 
S\Lh| kOñW°tLeV j¤WOÐfV.

2. S\Lh| kOñW¾]R£ oOWt]¤ CafV vw¾V NkSf|W SWLt¾]¤ S\Lh|kOñW Aƒq SWLcV Aˆa]̂ ]ŸOºV.

3. KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh|kOñW Aƒq SWLcV AvqORa kq}ƒL zLt]Rs Cq]Õ]
a¾]¤ SqXRÕaO¾]p]q]¨OU.

4. j]°¥¨jOvh]ˆ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU v|f|ñoLp SWLc]sOç S\Lh|kOñWoLeV 
sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa èÈp]¤RÕaOS¾ºfLeV.

5. S\Lh|kOñW NWojÒ¡ kOrU \ŸpORa vsfOvw¾V oOWtã¾Lp] S\¡¾]ŸOºV. NWojÒ¡ CŠL¾  
S\Lh|kOñWoLeV j]°¥ V̈ sn]¨OÐRfË]¤ ASf Aƒq SWLc]sOç S\Lh|kOñWU oLã] vL°OW.

6. S\Lh| kOñWU vsfO oL¡^]j]¤ oÈ|nLY¾Lp] y}¤ R\pÅ]q]¨OU. D¾qRouOfLjOç AjOof]   
sn]ˆLsŠLRf S\Lh| kOñWU fOr¨L¢ kLa]Š.

7. kq}ƒ fOa°]pLsOa¢ DSh|LYL¡À] fj] V̈ sn]ˆ]q]¨OÐ S\Lh| kOñW¾]¤ 100  S\Lh|°tOU NWooLp] 
DSºL IÐV kq]SwLi]S¨ºfLeV. S\Lh| kOñW¾]¤ Aˆa]¨L¾SfL, W}r]pSfL, v]ŸOSkLpSfL 
Bp Sk^OW¥ DºLW]Š; AgvL DRºË]¤ A¨Lq|U C¢v]^]SsãrORa èÈp]¤ RWLºOvq]WpOU 
ASf Aƒq SWLc]sOç kP¡¹oLp S\Lh| kOñWU oLã] vL°OWpOU R\SáºfLeV. CfV JãvOU 
NkiLjRÕŸfLeV.

8. CT S\Lh|SkÕr]Rs 1 oOf¤ 80 vRqpOç S\Lh|°¥ CUYæ}x]sOU WÐap]sOoLp] A\ÿa]\ÿ]q]¨OÐO. CT 
S\Lh|°tORa A¡ÀU, f¡²o IÐ]v yUmÌ]\ÿ yUwp°¥ V̈ CUYæ}xV oLi|o¾]sOç S\Lh|°tLeV 
BiLqoL¨OÐfV.

9. S\Lh| kOñW¾]R£ AvyLj Sk^]jO RfLŸOoO¢kV KÐOU IuOfL¾ qºV Sk^OW¥ S\¡¾]ŸOºV. CfV 
D¾qU WºOk]a]¨OÐf]jOç  WOr]ÕOW¥¨Lp] DkSpLY]¨LvOÐfLeV.

10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 
èÈLkP¡‹U vLp]¨OW.

11. wq]pO¾qU D¥RÕRa KLSqL S\Lh|¾]jOU (a), (B), (c), (d) IÐ jLsV D¾q°¥ fÐ]q]¨OU. wq]
pO¾qU RfqR´aO¾V K. IU. B¡. D¾q¨asLy]¤ mÌRÕŸ S\Lh| jÒr]jV SjRqpOç wq]pO¾qU 
yP\]Õ]¨OÐ WOo]t (mm]¥) oLNfU j}sSpL WrOSÕL mL¥ SkLp]£V Skj DkSpLY]ˆV WrOÕ]¨OW.

12. KLSqL wq]pO¾q¾]jOU KqO oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU 1/3 oL¡¨V jìoLvOWpOU 
 R\áOU. D¾qU SqXRÕaO¾L¾ S\Lh|°¥¨V oL¡¨V jìoLvOWp]Š.

13. kq}ƒL yopU Wu]pOÐf]jV oOSÒL, D¾q¨asLyV C¢v]̂ ]SsãRr J¤Õ]̈ LRfSpL KqO DSh|LYL¡À]pOU 
kq}ƒLzL¥ v]ŸV kOr¾OSkLWL¢ kLa]Š.

14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒp]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU 
ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp] NkX|Lk]¨OÐfLeV.
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